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SN B SRA(SIH) - MBAY - BAS 0l & 24 e HlnE2
s2J|l=dH 30,062,358 23,651,269 6,411,089
= 3,808,510
s 2,366,000
Il 1,684,739
= 270,246
& 3,460,578
Al 18,472,285
sES5KX Jlgrs=s 4,673,760 2,653, 150 2,020,610
= 304,000
s 700,000
| 5,280
= 205,200
= 426,540
Al 3,032,740
A2 114,880 0 114,880
AP E Xt 114,880 0 114,880
201 BH2EH] 56,880 0 56,880
02 2324l 56,880 0 56,880
OdzH| 18,440
— AR H | 14,400
oo
10,0002 * BAIZF = 1.22l& » 120 11,520
o
10,000& * 8AIZ+ = 1.22|H » 30€ 2,880
—=AA, FAY 4,040
==
8,000& » 8AIZH * 10§ * 0.5kcal * 120 3,840
- =Xl 200,000& = 1CH 200
OA&&EHl |Xidl 11,240
— AR FEFX 22| 4,920
-2 200,000& = 12& 2,400
& 1 90,000& * 123 1,080
D=AEE 120,000& = 12& 1,440
IV LT
40,0003 » 4004 « 128 1,920
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2l FHAr2e| (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
—&IIAE KXY 2,400
- =2 MIIANE 100,000& * 12& 1,200
B2 MIIME 300,000& * 43 1,200
—d, AL FX2e
2,000,000& * 14 2,000
Ot ety (11CH) 26,600
—9379(&8,8%) 4,000,000& = 1CH 4,000
—4074(SE,ZR) 2,000,000& = 1CH 2,000
—6881(2E3I2,3R) 2,000,000& = 1CH 2,000
—2185(2 832,38 R) 2,000,000& = 1CH 2,000
—4155(2 832,38 R) 2,000,000 = 1CH 2,000
—1272(A 83 2,8 R) 2,000,000& = 1CH 2,000
—34B(2E32,ER) 2,000,000& = 1CH 2,000
—4B(LAES2,ER) 2,000,000& = 1CH 2,000
—8656(2E3I2,ER) 2,000,000& = 1CH 2,000
—4269(A 82,8 R) 2,000,000 = 1CH 2,000
—9359(&lutll, 5, 4R) 4,600
- &E = 1,5002 * 1002lE& * 203 3,000
- F YR 1,600& * 502/& * 203l 1,600
OL£xE=Z SYIIHE 7Y 200,000 = 3CH 600
401 Al &BIZ20HYI 58,000 0 58,000
01 Al&b| 58,000 0 58,000
OFA AIR 4 SZIHE At 48,000
—0lUX e MIIAE
2,000,000 = 4741t 8,000
—SAE(2YA) SALX L tHad
]l 30,000,000& * 14 30,000
—SXA B4 O ¥ HH2tEHI
10,000,000& * 14 10,000
OFA=2L =T A 10,000,000& * 14 10,000
=R 4,508,260 2,605,500 1,902,760
= 304,000
s 700,000
= 205,200
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SN & S 426,540
Al 2,872,520
s&Z2 Mol2E 600,000 300,000 300,000
307 glz2told 600,000 300,000 300,000
05 GIZtREZ 600,000 300,000 300,000
OsX2 WH2E SHUANY 282
3,000,000,000& * 20/100 600,000
sHEi3 0IUEH 1,000,000 600,000 400,000
307 212t0|H 1,000,000 600,000 400,000
08 OIXENZ 1,000,000 600,000 400,000
Osgol 8X2 XA
500,000,000& * 23 1,000,000
st Das F4 221,000 220,200 800
201 Yer2gy| 6,400 4,200 2,200
01 A2l 6,400 4,200 2,200
OsdAMM 22= HH 6,0008 *» 5005 3,000
ONBEE &40 M 60,0002 * 15% 900
OdHE MHIATE EHEE 500& * 1,000% 500
OBENYSH ALAHN RO
2,000,000& » 14! 2,000
301 ptEas 5,600 7,000 A 1,400
TIERTENE 5,600 7,000 A1,400
OSHEIE DIEI oulRa
70,0008 * 20% 23l 2,800
OXNMHEAN &= WFRFE 2435 2,800
—TOHOIS Y2 oY)
70,0008 » 20 * 23| 2,800
306 H012 209,000 209,000 0
01 &¢= 209,000 209,000 0
020084 s0{= FHEIIZ T4 209,000
—FTA CHEAFR! X2
2,090,000,000& = 1/103l 209,000
FRANEHRFA 18,000 18,000 0
203 YREY| 18,000 18,000 0
03 AIMFAAHR =] 18,000 18,000 0
Oselle N £
5,000,000& = 14l 5,000
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= 254,000
& 76,200
Al 177,800
301 YBtEAa=E 508,000 218,000 290,000
= 254,000
& 76,200
Al 177,800
01 AMIEBEHESG3 508,000 218,000 290,000
O=sgel R0t FHIXA
508,000,000& * 14 508,000
= 254,000
= 76,200
Al 177,800
=M= E0s 24 (2) 400,000 200,000 200,000
s 200,000
L= 60,000
Al 140,000
402 BIZ2HX =0l 400,000 200,000 200,000
s 200,000
& 60,000
Al 140,000
01 QUAR=2EX 400,000 200,000 200,000
OsMszsENMElts &4
200,000,000& = 202 400,000
200,000
= 60,000
Al 140,000
SHsEYES 45N sIHUR(3) 10,000 8,000 2,000
= 5,000
& 1,500
Al 3,500
301 YotEa=z 10,000 8,000 2,000
= 5,000
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25,0008 * 4% * 1003 10,000
2 5,000
= 1,500
Al 3,500
SUAY ALY XA(2) 63,000 16,800 46,200
=2 45,000
= 5,400
Al 12,600
307 QI2H0IF 63,000 16,800 46,200
= 45,000
= 5,400
Al 12,600
02 LIABNBE 63,000 16,800 46,200
OsHAYHLYT 2
10,000,0008 * 1HEIQ! * 70/100 7,000
2 5,000
= 600
Al 1,400
OsHAYHLYX
8,000,00080 * 1094 * 70/100 56,000
2 40,000
= 4,800
Al 11,200
SEMY FEAY(2AE) (D) 800,000 0 800,000
= 500,000
= 90,000
Al 210,000
307 QI2H0IF 150,000 0 150,000
= 90,000
= 18,000
Al 42,000
REIEIET PN S 150,000 0 150,000
OFEMATY 150,000,0002 * 14} 150,000
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= 18,000
Al 42,000
402 QIZEXE0|H 650,000 650,000
s 410,000
= 72,000
Al 168,000
01 QR=Ex 650,000 650,000
SEIE
850,000,000& =14 = 76.4705/100 650,000
s 410,000
= 72,000
Al 168,000
sgoXtE a2 X2 (Z) 684,000 0
= 205,200
= 143,640
Al 335,160
301 Lptsazg 684,000 0
= 205,200
& 143,640
Al 335,160
02 HSIYSNZ 684,000 0
Osgoid sxtsXA 900,000& = 7609H 684,000
& 205,200
= 143,640
Al 335,160
sSHEXY AHBEY XA(T) 16,000 4,000
& 4,800
Al 11,200
307 QIZt0IA 16,000 16,000
& 4,800
Al 11,200
02 QtFAE X 16,000 16,000
OB0ET AN RSN
20,000,000 * 1JH2 = 80/100 16,000
= 4,800
Al 11,200
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& 18,000
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402 RIZ2FX =0 54,000 13,500 40,500
& 18,000
Al 36,000
01 BIZEXI=22 =X 54,000 13,500 40,500
OZE0|2X=sIH ASSEXA
15,000,000 = 4% * 90/100 54,000
== 18,000
Al 36,000
H=s FNA(T) 56,000 36,000 20,000
& 21,000
Al 35,000
402 QIZ2FX =0 56,000 36,000 20,000
& 21,000
Al 35,000
01 QZEREEX 56,000 36,000 20,000
SEEEE
5,000,0002 = 14% = 80/100 56,000
== 21,000
Al 35,000
s=0tg 3534 N3 (%) 20,000 0 20,000
& 6,000
Al 14,000
307 glz2told 20,000 0 20,000
& 6,000
Al 14,000
02 QUAFAEX 20,000 0 20,000
OsENEBSZ AN
20,000,000& * 1JH2 20,000
== 6,000
Al 14,000
Hs Kt XA 58,260 0 58,260
201 Let3y| 1,260 0 1,260
01 AtR2teltl 1,260 0 1,260
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SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
OAST 28925 yo+g
70,0009 * 6% * 33l 1,260
01 YprEaZ 27,000 0 27,000
JEEEEEYE 27,000 0 27,000
OASX Y=ns &8 27,000
—AsT HFASH X
300,002 * 8IHE * 102 24,000
~AssD £U2 K 300,008 * 10% 3,000
402 PI2IXHE0IH 30,000 0 30,000
01 PRIESE 30,000 0 30,000
OFSIHT Zorelll X
3,000,0002 * 107+7 30,000
sX22ASAY DS 50,620 47,650 2,970
| 5,280
Al 45,340
sXBAAN 2 37,420 33,350 4,070
201 syl 20,200 19,350 850
01 AR el 17,900 19,350 ~1,450
O2gy+g 17,900
- CEERNEES
70,0002 * 158 * 33 3,150
- ECEE RN
70,0002 * 58 * 303 10,500
—=¢ Y442
400,008 * 1021 4,000
—SNWE AFHA RO 50,0008 * 55 250
02 B2 2,300 0 2,300
oA | 300
—=y Cha B0 HIE
60,0002 * 5JH 300
Osgs SR Sl
5,000 * 4005 * 13l 2,000
202 Ofl 2,520 0 2,520
01 =00t 2,520 0 2,520
oY= 2L AR DRSS O
| 70,0002 * 3% * 123 2,520
01 YuBaS 14,700 14,000 700




SN SIS HE
HH: sE=X 0|HEE
cHol: SX29Y DS

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
10 SHAIAHIEAZ 14,700 14,000 700
OsAl&e Fdus Y HAEG 2|
70,000& * 20 = 103 14,000
OsX&e9d s A0
70,0008 * 5Y * 23] 700
s3] 29 N (=) 13,200 14,300 A 1,100
| 5,280
Al 7,920
201 2Bt AH| 13,200 14,300 A 1,100
J| 5,280
Al 7,920
01 ArR2t2|bl 13,200 14,300 A 1,100
OsA&/AAS 29
1,200,000& * 11J0HA 13,200
J| 5,280
Al 7,920
A0S Jlz=soHe 4,032,888 3,514,545 518,343
= 34,000
J| 1,414,000
& 535,800
Al 2,049,088
OHE A THHHD = E2 171,250 187,870 N 16,620
= 8,000
== 37,500
Al 125,750
&= =23 32,300 134,000 A 101,700
402 QIZtXIE0| A 32,300 134,000 A 101,700
01 QI2X=2EX 32,300 134,000 A 101,700
OYMHE E0IE DR AIE A (0.
2ha) 2,000,000& * 1JHA 2,000
OYF=Al XNETHAH HHI2H sIF JI=0lA
22,500,000& * 1ha 22,500
OdF Haet ASJAEHE A AL (0.2ha)
3,000,000& * 1J0HA 3,000
OYFae SATIZ BENE ASAL
4,800,000 * 10HA 4,800
MOl E2AY &= 4,450 8,870 N4, 420
201 2Bt2AH| 1,300 1,120 180




SN sIISMHE
Hu: AN JSHY
S OHER THHHDIE 23

S A .S (FH) - NBAY - BHAS A} OH &EIE Hn=2
- = T ° - = Rl e =5 0:”/&,% Lsa
01 AtER2teldl 1,300 1,120 180
Ooget =Z2t|
1,300
—JUAHE2 AMEAY EEHE
50,000& * 10JH & 500
— A2 AEAY EBIL3 (L TH)
2,500& = 10008 * 23l 500
— 202 AIEAIY HILS(SE29)
60,000& * 54 300
207 AR 1,650 3,200 A 1,550
03 Al&EAHFHI 1,650 3,200 A 1,550
OZFA 54 AZE Mo 71 45 A
(0.2ha) 1,650
— AN 100,000& * 5& 500
—E2(Jtlet) 8002 * 500& 400
—ER(HE S) 800& 5008 400
—Hlz ¥ s 50,000& *» 7& 350
405 IHHH SHI 1,500 0 1,500
01 Xt =SFHSHI 1,500 0 1,500
OUNEE E4xAE CUXEItdet 2
1,500,000 = 1CH 1,500
ASEHS AYH(AII=ESAIE)(2) 16,000 0 16,000
= 8,000
Al 8,000
402 QI2HX=E01 A 16,000 0 16,000
= 8,000
Al 8,000
01 BIZEXI22 X 16,000 0 16,000
OZEEIHE &8l SelSS MHHAIY
16,000,000& * 1JH A 16,000
= 8,000
Al 8,000
WA MEENSE AHEMA(E) 58,500 45,000 13,500
= 19,500
Al 39,000
402 QI2HXE01 ™ 58,500 45,000 13,500
& 19,500




A sII=4H
M FUEES Jl=e

ool HEA XHHH3|§EE§‘ (el =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
402 QI2HXE=0|H Al 39,000
01 QtR=8=x 58,500 45,000 13,500
OXMA RAE MISAEY
20,000,000 * 1JH2 = 90/100 18,000
< 6,000
Al 12,000
OHsd HLotfA SR LAY
20,000,0002! * 19§24 * 90/100 18,000
< 6,000
Al 12,000
ORUAES JIHSTHUHAIE
25,000,000 * 1JH2 = 90/100 22,500
= 7,500
Al 15,000
EHAY IR HEI| ASAE(E) 60,000 0 60,000
= 18,000
Al 42,000
402 QIEXE01 M 60,000 0 60,000
L= 18,000
Al 42,000
01 QtR=8=x 60,000 0 60,000
OBAEN U HLHXZY ASAY
60,000,000& * 1JH= 60,000
= 18,000
Al 42,000
s dE At 3,552,888 3,195,675 357,213
= 26,000
| 1,414,000
L= 498,300
Al 1,614,588
=2 Ed s X 262,500 249,000 13,500
402 QIZEXE0|M 262,500 249,000 13,500
01 QtR=8=x 262,500 249,000 13,500
O=M=T X &
50,000& * 5,000 A * 50/100 125,000
OBANEE XI&
75,0002 = 2,000 = 50/100 75,000
OAtDt 2R X
70,000& = 1,0008 = 50/100 35,000
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P s AE A EERSE

_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
EE TSI
3,400,0002 * 10CH * 50/100 17,000
o2l REHES MEI| N
700,0008 * 30CH * 50/100 10,500
DAY D AL 15,000 10,000 5,000
402 QAT0IH 15,000 10,000 5,000
01 2IAT=EZE 15,000 10,000 5,000
OADLIE RUE ZZAL
10020 * 200,004 * 50/100 10,000
S42 DHA(HERANLTY S XA (
5ka) ,0002 * 5,00004 5,000
BEAEE s 183,138 191,564 ~8,426
101 Q124 33, 100 26,950 6,150
10 JIZH2ZNES S 33, 100 26,950 6,150
OBUHANBE 29 oy 33, 100
—ADH 23T B
35,0008 * 58 * 302 * 13l 5,250
—ADH XISEZSE 2ol
35,0008 * 5% * 202 * 18] 3,500
—#2 ST el
35,0008 * 58 * 202 * 18] 3,500
—tez ze
35,0008 * 58 * 252 * 23] 8,750
=PS - 1]
35,0008 * 5% * 302 * 18] 5,250
—z=ot2 28 e
35,0008 * 4% * 102 * 18] 1,400
Az el
35,0002 * 4% * 52 « 18] 700
—¥S Y INHE S4:Y
80,0008 * 58 * 22 23] 1,600
R ECESIE R
35,0008 * 19 * 902 3,150
201 Ygreg| 45,078 39, 154 5,924
01 At 2eld| 11,280 11,350 AT0
OgurgH| 6,500
— AFDFZRIZ R 5002 * 2,000 1,000
—DEAEE RIS W
3002 * 3,000% 900
~ DTS 201 DKL AR
3,000 * 5005 1,500
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—EFU=2d MOILE W AE

2,0008 * 500% 1,000
—MIOILE ¥ #Otsl &9 WA

60,0002 * 10H 600
—it== HolE S A 100,000& * 5& 500

10,0008 * 10074 1,000
o= 780
—DSEAET DS (HYE, HE)
10,0008 * 13t 6% 600
—BAAEE A D= (e, A
LH &) 60,0002 * 1& + 39 180
oY%z 4,000
AT SBH YR
400,001 * 1Ch * 103 4,000
2 ZT2YH 33,798 27,804 5,994
OZZ22 2 AA 8,400
BATHHHEZ OISAIAE 2Y(SME)
20,0008 * 5Jf * 122 1,200

100,000& = 12& 1,200
—d==AIEE &Iz 500,000& + 12& 6,000
oozl 5,740
—BHAEE 5010 RE0 2,620
3 = 1,500 * 1,000 2 1,500
eR 1,600& * 700 £ 1,120
~s222) K20
1,6002 » 1004 » 6OHE 960
—STT 2UE HSE(FR)
1,500& 1004 = 8IHE 1,200
—DAAEE ARA, TG Ly
1,002 * 8AIZH * 1202 960
OAl & EHIS Xl 19,658
DTS GISAAE S|
300,000& * 542 1,500
—DBEAEE AS2 | 4,938
L EB(MES) 3,000 * 430.74m 1,293
- &0 2 ElHIA 3,000& 328’ 984
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CHel DsHAWA A5 (EHel H
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
- oA 3,000 = 792m 2,376
- HeMED 3,000 = 95m 285
—=SIHH 282 I2Ex S|
1,000,000 = 1CH 1,000
—sJ|H SXHI(EEH A55)
8,000,000 * 1Al 8,000
—JIXHH SXHI(XSH&H 2601 2
105) 2,020,000 * 14l 2,020
—HOlH A 2 A &I
100,000 * 10& * 50/100 500
—2JIF 23 AY| 50,0002 * 10& 500
— 2 AAE 293 255
1,200,000 * 1Al 1,200
206 24l 16,950 20,000 A3,050
01 a4 16,950 20,000 A3,050
OLAISE HAZL(SEE 2%, H2)
10,0002 * 5& * 10%Z 500
ONLTHHHS B U SAI AL A DX
1,000,000 * 3JHA 3,000
OAl8Zz 23 3¢ 100,000 * 10& 1,000
OAlD E28A BAZE(ED]) 2
5,0008 * 508 250
OAEE M2 =52 ZETH 2L
1,00094 * 2& * 1,0000H 2,000
OAMIED AsE 2
30,0002 * 2& = 4000 = 1/2 1,200
OG=AY 2882 AT M
5002 * 6,000 » 2& 6,000
OSAS IR £20 DR &R
3,000,0008 * 1Al 3,000
207 S RIoHEH| 49,330 50, 160 A830
03 Al e RHI 49,330 50, 160 A830
OLAISE NI 29 49,330
—EZ Y 2 20,0002 » 5& » 20 2,000
—-= % 180,000 * 4.2ha * 103 7,560
—H 2 300,0008 * 4.2ha * 23| 2,520
— U BEXHTH 30,0008 * 20& 53] 3,000
— M3 0lERA 6,0009 * 500 3,000
—E LIS A 70,0002 * 100 7,000
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SN -EHH . (B) - MPAY - BE2 Ofl & 04 Sl ko HRE2
“ASNEY de oM
50,000& * 200= 10,000
—2HD AHE SIS ZER K
500,000& = 4042 2,000
—HOI2iA Dot 2 9,500
- &R, e 2,000,000& » 1ME *4& 8,000
AY ENE Y 228
10,0008 * 153 1,500
~DETHHBZHSAAEY 28 Yol
0E Y S 2,750
-HdHzZ2E EY 250,000& * 5MIE 1,250
- HollEs GE X 100,000& * 105 1,000
- 808 A28 50,000& * 105 500
301 Lptsazg 12,680 8,800 3,880
10 AIAHIE &= 10,200 5,360 4,840
OB+20F .5 BE0IY|
70,0008 * 3% * 103 2,100
OFDBIVAMMTSLES DIOIY]
70,0008 = 6¥ = 52 2,100
OYEAD 223 FSDEHA
6,000,000& * 135 6,000
12 JIEt2 43 2,480 3,440 A 960
OMILFA(BE,BHE) EEHA
20,000& * 20& * 23l 800
OBZSE(HDEE JaMN) ER2HA
SEZ24 1,000,000& * 14 1,000

OlLE ZAt=& 680
—Jl== 100,000& = 498 = 18] 400
—0f Hl 70,000& » 4% x 13 280

401 AEHIZLS0YI 11,500 19,000 A7,500

01 Al&HI 11,500 19,000 7,500
O=z=0t, X5 AIEZ AMEE 3,500
—&t= AlE 1,500,000& = 14| 1,500
-4 Al & 2,000,000& = 14 2,000

2,000,000& * 1

7z

2,000
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ol DA s AW A (S92l ®el)

SN HB SR (BIH) - A - B S 0l &b S D=2
- o T - = S = &= 0:”/&,% WS
OZal otRA A2 2 1,000,000& * 14 1,000
OUi= SAIEL J|BtEH] 5,000,000& = 14l 5,000
405 XHAHESHI 14,500 27,500 A 13,000
01 XA ESEFH=HI 14,000 27,000 A 13,000
OLEY 228 =sJI1A 3,000
—&2lJ| 3,000,000& = 1CH 3,000
Oa&E&s JIXM 11,000
—SH F I 8,000,000& = 1CH 8,000
—ZX MEDI 3,000,000& * 1CH 3,000
02 EMN-YHI 500 500 0
OB4NE, 97 B2AR 22
50,000& = 10& 500
USsHE: S2M 50,000 0 50,000
307 QI2toIA 50,000 0 50,000
04 CIZtHALE X 50,000 0 50,000
ORcl=sat2 MAISHOHE S ArE I
50,000,000& = 14 50,000
MAAE SUs XS (=) 14,000 12,900 1,100
p) 14,000
201 ZEH23H] 3,390 2,900 490
Il 3,390
01 AtE2teldl 3,390 2,900 490
OFTAME! EOIZ DM HX 2 HASE 7
2 1,500,000& * 14l 1,500
J| 1,500
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Il 1,890
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Il 3,500
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OFTAAR! It SRS 28
3,500,000& » 1H 3,500
J| 3,500
301 YBtEa= 6,110 3,000 3,110
p) 6,110
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3,500,000& * 1& 3,500
J| 3,500
10 SAIAHIBAZ 2,610 0 2,610
OFTAAIZE 01201 AFAAIZ O H]
70,000& = 10 = 33/ 2,100
J| 2,100
OFTAAIE 012101 MEAI SAHS
5,000& * 102¥ * 13 510
J| 510
307 QI2t01A 1,000 1,000 0
J| 1,000
02 DIIAMBE 1,000 1,000 0
OFTAALE Al =H 2d9Hl 2%
1,000,000& * 14l 1,000
J| 1,000
MAAIE SHEH=) 2,800,000 1,500,000 1,300,000
J| 1,400,000
== 420,000
Al 980,000
402 QI2EX=0|H 2,800,000 1,500,000 1,300,000
J| 1,400,000
== 420,000
Al 980,000
01 QI2X=2EX 2,800,000 1,500,000 1,300,000
OIILSADH B o125
5,600,000,000& = 14!l = 50/100 2,800,000
J| 1,400,000
T 420,000
Al 980,000
W= HH|IXIH(2) 52,000 71,385 N 19,385
= 26,000
= 7,800
Al 18,200
301 Et8A=3 52,000 71,385 A 19,385
= 26,000
= 7,800




D s9JlsdH

CEMAES Do
2

) BN T

SN HH G (EH) - MBAY - BYS Ak Soe s
01 YerEA3 Al 18,200
12 JIEI2 &3 52,000 71,385 A 19,385
ODt==3 HUIXE(AD, ZS,81)
6,000,000& =* B8.6666666667ha 52,000
= 26,000
< 7,800
Al 18,200
U=ss st d2ME0 83(%) 60,000 60,000 0
L= 24,000
Al 36,000
402 QIZEXE0|M 60,000 60,000 0
& 24,000
Al 36,000
01 QX=X 60,000 60,000 0
Ot=2d =sitg d2MELD &X
606,060 * 198m * 50/100 60,000
< 24,000
Al 36,000
FTAIS otal EIIHEM X3 (E) 32,250 47,250 A 15,000
= 12,900
Al 19,350
402 QIZEXE0|M 32,250 47,250 215,000
& 12,900
Al 19,350
01 Q==X 32,250 47,250 A 15,000
OFTAtHE HAZFIIMEN K&
45,4503 * 1,419.1405m = 50/100 32,250
< 12,900
Al 19,350
Dt MSAZIINM NR(Z) 54,000 112,500 A 58,500
& 21,600
Al 32,400
402 QIZEXE0| M 54,000 112,500 A 58,500
& 21,600
Al 32,400
01 BIZEXI=22 =X 54,000 112,500 A 58,500




D sgl|=dH
CEMAES Do
2

Dt ddE dat

SN HH G (EH) - MBAY - BYS Ak Soe s
Olt= &5t JIXM X2
9,000,000& = 12CH = 50/100 54,000
< 21,600
Al 32,400
FTAS =& E 2HIl X2(%) 30,000 0 30,000
L= 12,000
Al 18,000
402 SIZ2HX =0l 30,000 0 30,000
& 12,000
Al 18,000
01 QtR=8=x 30,000 0 30,000
OFTAIE ==& & ZHII X
20,000,000& * 3CH = 50/100 30,000
< 12,000
Al 18,000
Bt A7 XS 25t 308,750 131,000 177,750
JIEH WMAF A JLD ALY 308,750 131,000 177,750
402 SIZ2HX =0l 308,750 131,000 177,750
01 QtR=8x 308,750 131,000 177,750
OZ& 2t0l HIote Rt XI&
50,000,000 * 10ha * 50/100 250,000
OZE ¥z UM
3,300,000 = 10ha * 50/100 16,500
OXE ZEZ HEXNE
150,000& * 400& * 50/100 30,000
Es0t X X2
70,000& * 3508tA * 50/100 12,250
ASE L AL 320,020 255,836 64,184
= 41,750
= 20,800
& 85,000
Al 172,470
== MIl= =20 B 232,500 92,300 140,200
&2 20,800
& 85,000
Al 126,700
= Mz B2 MY 23,500 17,300 6,200
206 M=l 6,000 5,300 700




A sgllsdH
M M 2SS g At

&Rl = MIls £J 3 (el &)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
01 M=z 4l 6,000 5,300 700
O2dE 0l 4101 E=AldY
1,500,000& * 270 3,000
O=2:3t0l HE SLEHE LHMAIZ
300,000& = 10ha 3,000
402 QIZEXE01H 17,500 12,000 5,500
01 QUAR=2EX 17,500 12,000 5,500
O=xA SEHE AL Al
10,000,000 * 2ha * 50/100 10,000
OLZHd EXEE MHHAEHY
5,000,000 * 2ha * 50/100 5,000
OAD SHAH MR CHAIES () HEAIE
5,000,000 * 1.0ha * 50/100 2,500
Lo XAES SH(Z) 209,000 35,000 174,000
= 20,800
& 85,000
Al 103,200
402 QIZEXE0|H 209,000 35,000 174,000
2 20,800
L= 85,000
Al 103,200
01 QtR=Ex 209,000 35,000 174,000
OXSEHS JIsAMg(2H)
130,000,000 * 141 = 80/100 104,000
= 20,800
< 52,000
Al 31,200
OA=S PEYY M
30,000,000& * 14l 30,000
= 9,000
Al 21,000
Olt= E2&Z Mo 10,000,000& = 14 10,000
= 3,000
Al 7,000
OAFDt =2 AITHHY AlE™
50,000,000& = 14!l = 90/100 45,000
= 15,000
Al 30,000
OB MASK =4
10,000,000& * 14 10,000
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A sII=4H
M M 2SS g At

Sl D MIIS ED| FE (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
= 3,000
Al 7,000
OsXeg USHINAY 23
10,000,008 * 14} 10,000
= 3,000
Al 7,000
B4EE D38 |4 87,520 163,536 A76,016
= 41,750
Al 45,770
ADE D 29 2,520 2,920 £400
201 L2yl 1,640 2,040 A400
01 AF=R2elt] 1,640 2,040 400
O+ gl 1,640
—ADED 29 1,640
&, 225
500 * 25 * 1002 * 43 400
=R 60,0002 * 474 240
- DT A 2,500%0 * 1005 * 43 1,000
01 YL 880 880 0
12 JIE2A3 880 880 0
OADIBID ZUUA £ 880
—Jlz2 10,0008 * 12§ * 43l 400
-% B 50,0009 * TAI2 * 12§ * 43 200
—of bl 70,0008 * 12 * 1Y * 43 280
ALDE EIOH B 22l 1,500 5,700 A4,200
101 Q12| 700 700 0
B EEEERS 700 700 0
ONZ&EU A=A HIOIBR2L)
35,0008 * 4% * 12 * 53] 700
201 syl 300 0 300
01 AFR2elt] 300 0 300
OMZ£U FFAD HOIBY 228 4H
kS 10,0008 * 3074 300
206 THEb| 500 0 500
EETI 500 0 500
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A sII=4H
M M 2SS g At

el +EF2E DS% |4 (Ste: &
SAN-ZH-SA(FA) - NFAY - BES O AF K glgg_":\ﬁ Hlw &2
OM2=U F=At1 HIOZ2E X7 HI(
=2, 012, 8dl) 10,000& * 5& * 10&£ 500
ESZZE MAD|I=AE(R) 53,500 72,916 219,416
= 26,750
Al 26,750
402 QIZEXE0|M 53,500 72,916 219,416
= 26,750
Al 26,750
01 QX=X 53,500 72,916 219,416
OEIZRE M) B3
53,500,000& * 14l 53,500
= 26,750
Al 26,750
E28 sdols (=g )(2) 30,000 0 30,000
= 15,000
Al 15,000
201 BH2EH] 8,600 0 8,600
= 4,300
Al 4,300
01 AR 2cldl 8,600 0 8,600
OusSuM #¢ 45,0008 * 405 * 33 5,400
= 2,700
Al 2,700
OMRES ¢ 4ABF 7¢
8,000& * 58 * 4004 * 22l 3,200
= 1,600
Al 1,600
301 LptEas 17,400 0 17,400
= 8,700
Al 8,700
10 BAIAHIEANS 12,000 0 12,000
Ousd SAH| 5,000& = 40 = 183l 3,600
= 1,800
Al 1,800
O XHE Kl 70,000& * 408 * 33 8,400
= 4,200
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A sII=4H
M M 2SS g At

ool BEF 138 |4 (EH9l: & 2
_ = P e
A B2 S(3I) - MRAY - B8 ko O Ak 04 e
Al 4,200
12 JIet24=s 5,400 0 5,400
OQUFIA =& 150,000& = 2% = 183 5,400
= 2,700
Al 2,700
405 XHaHH S 4,000 0 4,000
= 2,000
Al 2,000
01 MM =SSFHSH 4,000 0 4,000
Ous JIAM & 2,000,000& = 2& 4,000
= 2,000
Al 2,000
dY2IIH (s U+0) 806,329 783,426 22,903
Z g 526,752 502,173 24,579
S22l 526,752 502,173 24,579
101 1Ay 505, 140 480,093 25,047
02 +=¢& 292,434 292,428 6
O=AIISHE AI2Ql +E (4D
7,4573 * 3BAIZ2E « 86E * 12 292,434
09 FIAAZZ2NE =+ 212,706 187,665 25,041
OFAt2tel, ZAUHS, AlHE 22 (59) 112,344
—Jl2s 38,0008 = 5& = 255€ 48,450
—d0l= 4,7503  209A12F * 400% = 5& 19,855
—GERIY
4,750  209A12F * 75% * 28| » 5& 7,446
—JtE=g 3,360
- B AL 40,0008 = 38 » 12& 1,440
-Jl B 20,0002 = 8 « 123 1,920
5,000& » 7& = 5& « 123 2,100
— A2
7,125 * 15Al12H = 58 * 128 6,413
—F5xd 38,0003  5& * 52 9,880
—mardrd 38,000& = 5& * 12& 2,280
—ANRSHIG
38,000& » 5& * 18& 3,420
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SN SYIEHE
HE: BH2AA (SZULD)
Sl Ol 2| (5l &2
_ _ MNuE o
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
=BT 100,002 « 52 128 6,000
— DSy 44,0002 * 58 * 122 2,640
— Ol =) 10,0008 * 1% * 5% 500
OsJIel, 28 (4%) 100,362
—Je3 42,0000 * 4% * 2552 42,840
—M0IZ 52508 * 200AI2F * 400% * 4% 17,556
CEESL]
5,250%0 * 200AI2F * 75% * 25| * 4% 6,564
—iE4g 2,160
UEIY 40,0008 * 28 * 122 960
- Il 20,0008 * 58 * 122 1,200
—a&TtaY
5,002 * 6 * 4F * 122 1,440
L EEL R
7,8752 % 15AI12F * 48 * 128 5,670
—FYaRLY
42,0002 * 150% * 122 * 4% 3,024
—FE4Y 42,0000 * 4% * 5% 8,736
—R2EYLY 42,0008 * 43 * 122 2,016
—ARNRBENLY
42,0002 * 43 * 184 3,024
— 2| 100,000 * 4% * 122 4,800
— s 44,0002 + 42 * 122 2,112
— Ol =y) 100,009 * 12 * 4% 400
203 YREAY) 10,212 10,680 A468
IEEEEEEET 3,300 3,000 300
OsIIsHHAS 3,300
e YL ETY| 3,300,008 * 1% 3,300
00 FREAIAREZY| 3,132 3,480 A348
OslzHH 3,132
— YA AR E T Y| 40,0009 * 87Y 3,480
— o E Y 3,480,0002 * ~10/100 £348
M4 SNSYLRFY| 3,780 4,200 £420
OsZD4I 3,780
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A JisdH

. 2 ZH(s3nt=0)

ool ol 2| chol: &l 2
- Col(3) - HRAY - BaS Aro e =2
—REA2ILRFAH 350,000& = 123 4,200
—Ol&HE 2 4,200,000& * -10/100 A 420

204 XA 11,400 11,400 0
NG A=A 11,400 11,400 0
OXUZHR F&XY| 11,400
-4 & 400,000& » 1¥ 123 4,800
- X 100,000& = 4% * 12&8 4,800
— AR Nad 50,000& * 3% * 123 1,800
a]l 279,577 281,253 AN1,676
4l 279,577 281,253 AN1,676
201 Lt 107,217 173,173 A 65,956
At 22l ] 59,355 77,921 A 18,566
OSALEX 2l
13,0002 * 258t A + 128 3,900
OS2 Al 5,000& = 64l » 259 123 9,000
Ogeteg 100,000& = 123 1,200
OA1E EA7YYI 50,000& * 123 600
Og&l==g 35,100
— =% 30,000& * 2 » 365¢ 21,900
-2 40,000& * 3% » 110 13,200
Ogzlg d+17¢ 100,000 = 2% « 23| 400
OALRI =&H| 10,350
—=S A =2l 1,000,000& * 1.5CH 1,500
—Zegly =2l 100,000 = 5CH = 50/100 250
—=SA EY 200,000& = 53] = 1.5CH 1,500
—ZgHd Ed 200,000& * 53| * 5CH 5,000
—2etZely &Y 200,000& * 53| * 1CH 1,000
—pc==2l 100,000& = 25CH = 20/100 500
—JIEf&HI =2l 50,000& * 122 600
OJIEt AR ESHI 5,000& » 259 * 123 1,500
OulatE 2 26,950,000 * -10/100 A2,695
23234l 47,862 95,252 247,390
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SN SIS HE
HE: B2 (SZULD)
9l Jl= | (5l &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il i~ o Hnz2
02222 2 MM 47,862
~®I123 30,840
HEIBA & BStESAIL
2,300,0008 * 122 27,600
S SASEII(GIRA)  250,0008 * 128 3,000
- AOFEDI(Z D) 20,0002 * 128 240
—FI| QFAA £4B 300,008 * 123 3,600
~H3R3 60,0002 * 125]& + 122 8,640
—e® = 80,0002 * 4D * 122 3,840
— 2O H B | 150,008 * 1| 150
—EA BENL 22 300,008 * 23] 600
R4 wsE 8,000% * 23141 * 122 192
202 Ofl 100,360 108, 080 AT,720
01 =Uofbl 100,360 108,080 A7,720
OSIHULD HRFT 0fY) 100,360
— B0l Y]
20,0001 * 122 * 26% * 122 74,880
— 22l 01H| 70,0009 * 142 * 26% 25,480
405 THEFH S 72,000 0 72,000
01 KNOASEFHSH] 72,000 0 72,000
OsI/+D =AD| DA
17,000,002 * 1CH 17,000
OBA ANRAMSAMLE 28 FIITY 55,000
—E2H0IF, MUY, 2A0l, By S
10,000,0008! * 4242t 40,000
—02Y, 394 slo8MA Y
200,0002! * 5074 10,000
—02Y, 423194 598X P
50,0000 * 10074 5,000
=QUPW Y NTAL 2,667,009 2,636,961 30,048
= 333,743
= 135,000
= 44,246
= 297,234
Al 1,856,786
SEXO =ANE JIWEL 661,702 497,377 164,325
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M =glIsdH
HE: sAME A ALY
o9l 52F0 =ANT JIBEM (e @ el
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
S8R sHXE JIgtEH = 52,808
2 8,114
= 62,520
Al 538,260
SIIH =2l At 257,030 71,942 185,088
101 Q12| 24,700 9,800 14,900
10 JIZAH22AASES 24,700 9,800 14,900
OsJlAl=al+=cel 24,700
—8&=3=cl 38,000& = 1% » 200 7,600
— X =2l 38,000 » 1@ = 200 7,600
—dERE e 38,000& * 1 » 200 7,600
—F=5g 38,0008 * 1% ~ 41 1,558
- PNRCE=Y 38,000 * 18 » 9 342
201 Lt 23,860 15,972 7,888
01 AtR2teld 800 1,280 A480
O 42l 800
—xol= 50,0008 * 2& * 4% 400
e E 50,0008 * 2% * 4% 400
02 23244l 23,060 14,692 8,368
OsJIAHEANDNEE 123
100,000& = 12& 1,200
Ou=gsJI4AH 1,540
-&d = 1,500& * 600 ¢ 900
—FER 1,600& * 400 £ 640
OsJIHUSE HEE S+
1,200& * 600 £ 720
OsJIAIS X 2,500
—&27 200,000& = 1CH 200
—EdH 300,000& = 3CH 900
—34tel 300,000& * 1CH 300
— 0127 200,000& = 1CH 200
—227I1(8S71) 300,000& * 3CH 900
OglHE sIIHSX 22/l 9,300
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SN SIS HE
By AW S
o9l 58X

i
x
0

.
o
10
5
x
==
1o
©
=]
0x
I
=
>
]2

=

R

J2H
==
£l
Ol
0

50,000& * 74CH 3,700
— S8 (=5F8x4012 58)
100,000& = 28CH 2,800
—UE (I 55) 200,000& = 14CH 2,800
OgZH,. =8 sJIH 282
3,000,000& * 12 3,000
OsJAHEANNSE st=2 Aol =
Al 22l 100,000& = 122 1,200
OsJlAelZ2 8 (g, 2222) A
HAIZ = 150,000& = 122 » 2& 3,600
206 M=l 66,000 43,000 23,000
01 M=t 66,000 43,000 23,000
OsJlH==l=cl 66,000
—REY 2E 20,000& * 3,00004 60,000
-7 & 423 20,000& * 3007H 6,000
301 Let2d= 3,270 3,170 100
10 AIAHIZ& = 3,270 3,170 100
OJIAHE s W=0b]
70,0002 » 6 * 62 2,520
O=2l =l SAtEH SAHI
5,0008 * 3¥ * 502 750
401 AIEHIZ SO 10,000 0 10,000
01 Al&HI 10,000 0 10,000
OsJIA MEZEAIE £X
500,000& = 20m" = 100/100 10,000
405 XtobESHI 129,200 0 129,200
01 AH=SSFHSHI 129,200 0 129,200
Ou=s ¢ AUE S==sI1H 7 129,200
—ANESEHESFED 18,000,000& = 3CH 54,000
— Q&0 4 D] 15,000,000& = 204 30,000
—Hi &I 3,600,000& » 2CH 7,200
—g=H=E =8| 1,000,000 = 2CH 2,000
—SE=E 8,000,000& » 2CH 16,000
—0A32<0 20,000,000& = 1CH 20,000
golaga 29 16,920 10,200 6,720
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A sII=4H

B AW HA NZAY
©el: SEX0 SANE JIBEY (Eh9): & 2
_ _ HE T
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
201 ZEr=3H] 16,920 10,200 6,720
02 =224 16,920 10,200 6,720
o&IIea 100,000 = 3L = 12 3,600
Otrett|
1,000&  8AIZ2t » 1.0kcal » 1202 * 304
EN 2,880
OXNPXA MR (LH5HES, ZR)
1,500,000& = 3CH 4,500
O et
1,0002 » 8AI2F = 1.0kcal * 302 * 3IHA 720
ORI 300,0008 * 3 4 900
OZEEI |
20,0002 * 34 * 122 4,320
sHZEEE3 MY 7,098 18,881 A11,783
&2 1,540
Al 5,558
201 g2 4,898 1,881 3,017
01 AtR2cldl 2,860 0 2,860
OselI&HE SHOIX 2 22yl 2,860
—SHOolIX2g 22l 230,000&  12& 2,760
— 2T ABIAA A S|
100,000& * 14! 100
02 52294 2,038 1,881 157
OQEY SIATS ALY SLFE 22yl 2,038
~EMHIA 0122 25,0008 604 ~ 122 1,800
== U E= 3= 3,300& * 6CH » 123 238
405 XHAHFESHI 2,200 12,200 A 10,000
= 1,540
Al 660
01 XA ESEH=HI 2,200 12,200 A 10,000
OZYNLA BUINA(2A)
2,200,000& * 1CH 2,200
= 1,540
Al 660
sII=8= 22,320 26,362 N4,042
201 LEH23H] 21,320 22,462 N1,142
01 A2l 20,420 21,670 AT,250
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EA: =gI|Is4HH
ME: =oiAME BA K| C AL
& 2280 sgAE JIstxyd (428
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
OSENCANY 228 SolAS B
100,000& * 5= 500
OsZ&XNEAY s28E3 HI&
1,000& * 2,5000H 2,500
Osgllsk 452 2512
2002 = 3,5000H4 700
OsZNEANE EEE AINEA 1,050
—0I3} 500& = 1,0000H 500
—&20lE 2E 6,000& * 50= 300
—&2l0lE & At 5,000& = 50= 250
Olls28 ZAEXMAS &3S0 NE 1,100
— AFRL & OH T} 150,000& = 2% 300
— W2 HME 200,000 = 4= 800
O=2JlaME ST AHA
30,0008 * 14= = 63 2,520
OYF=a (e, HE HA) AHAE
g2t 3,000 = 2,0008 6,000
OYF=sHa (Yo, HE HA) Alo9
2 == 70,0008 = 15H 1,050
OF=sHHA(HEHR, HE HA) AlA
500,000& ~ 10X 5,000
02 22344l 900 792 108
OsIlall 2 SHE
2502 * 3008 * 128 900
405 KHAHFISHI 1,000 0 1,000
01 MY ESFHSHI 1,000 0 1,000
O sgll==E2 0lss HZ2Y
500,000 * 2CH 1,000
SENTHE ABHALY 19,198 19,808 A610
= 6,574
Al 12,624
101 Q1| 13,148 13,148 0
2 6,574
Al 6,574
10 JI2tHIZ2Z2XNSES 13,148 13,148 0
Ostd=s)|=ad MU AUSIAIY ol24H]
(23) 38,0008 * 2% = 173¢ 13,148
= 6,574
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A sII=4H

B AW HA NZAY
©el: SEX0 SANE JIBEY Rk
_ _ SIEN
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
Al 6,574
201 Lt 4,200 5,120 A920
01 AtR2teld 4,200 5,120 A920
OSEXNTAY F8 BIH & AOIL DX
2,0008 5005 1,000
OSEXNTAY B8 BIE 849
60,0002 * 534 300
OSEXTAY AN R0
5,000& = 1005 500
OXITAY BIBDM HE
5,000& = 1002 500
=Bamp
5,0002 * 100 500
g0l
100& = 1,00004 * 10& 1,000
Ogt==s=X% &3l 200,000& = 243l 400
301 erEa= 1,850 1,540 310
10 BAIAHIENS 1,000 1,000 0
OSENTAY B8 Bt L AOIL 34
] 5,000& » 2008 * 13l 1,000
12 JIEHBAS 850 540 310
OSEXNTAY E8 BIH L AOILE 2A
= 850
—JlZ= 100,000& = 5% 500
-0 4 70,000& * 1 » 54 350
S0l NAME 2 5,520 0 5,520
201 LEH23H] 3,900 0 3,900
01 A2l 3,900 0 3,900
OF=SD 2% DI M
10,0002 * 30 * 18] 300
S
3,000& = 1,000% 3,000
5,002 * 108§ * 128 600
206 2l 600 600
600 600
SNz 2
10,000& * 309¥ * 23| 600
1,020 1,020
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A sII=4H

o SR A NTAY
ool SEX0 ZAXE JIPEY (649 & 2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K loﬂ/i\_Fo” Hlw &2
202 OiHl =2 8, 100
Al 6,200
SEENEE 12,400 9,880 2,520
OFSNE 173 2SN
500,000% * 19% 9,500
= 4,750
Al 4,750
ONEBLY ARei4 X
2,900,0002 * 1% 2,900
= 1,450
Al 1,450
03 =2UYL0iH| 1,900 7,000 A5, 100
ONEZDY oo+ (H20i4)
1,900,002 * 1% 1,900
= 1,900
S| ERAY(2) 58, 120 108,500 50,380
= 29,060
Al 29,060
201 Y2yl 1,920 1,200 720
= 960
Al 960
01 ARzl 1,920 1,200 720
OBZOIS JI&0E MM
8,0008 * 1208 + 23 1,920
= 960
Al 960
301 YsrEaz 1,200 1,200 0
= 600
Al 600
10 BAAUEAZ 1,200 1,200 0
OROIE JI=ns SA|
5,0008 * 120 * 23] 1,200
= 600
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405 K& S 55,000 106,100 A51,100
= 27,500
Al 27,500
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A sII=4H

B S &4 T AY
o9l 52F0 =ANT JIBEM CLRE
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
202 o1l = 900
04 =XIstH bl 900 0 900
ONEXNZTRARSSASA Hholos
900,000& = 1H 900
== 900
s NEEAHALF(T) 9,000 5,000 4,000
= 2,700
Al 6,300
405 RAHAHF SHI 9,000 5,000 4,000
== 2,700
Al 6,300
01 AL =ZSBFSHI 9,000 5,000 4,000
OsglIHnNE=AHHEL
9,000
—SEAF4A M= 4,000,000& * 1CH 4,000
= 1,200
Al 2,800
—SJIAHYUAME 2 Z2 ]I
5,000,000& = 1CH 5,000
= 1,500
Al 3,500
esHETH(T) 30,000 0 30,000
= 9,000
Al 21,000
402 QIZ2EXE0| ™ 30,000 0 30,000
== 9,000
Al 21,000
01 QI2tX=2E X 30,000 0 30,000
O2HI A2t EMote e-s& X
30,000,000& = 1JHZA 30,000
< 9,000
Al 21,000
SHAIHEIHLHAR (L) 10,000 10,000 0
== 3,000
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1,800,000 = 186CH * 40/100

H1

Al

1,600,000& = 60CH = 40/100

H1

Al
520,000& * 60CH *40/100

H

Al

184,800

133,920
33,480
100,440

38,400

9,600
28,800
12,480

3,120
9,360

T

in

785,526
13,485
7,568
173,319
591,154

1,184,836

399,310

45,920

45,520

400

22,300

22,700

A400

St 2 150,000& = 105

| 58) 50,000& * 63

B\ 3,000& = 200

4,000& = 3,500%
60,0002 * 114

60,000 » 8% =

3,000& = 1,000

60,000& = 11HSH

21,200
16,940
14,000
660
480
1,500
300
3,660
3,000
660

600

21,600

1,100

AN400
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T zolAM B4 KTAY
CHol: AMegle SAXBolAgY (cHol &2
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree
OMlEs&EAHNSE
100,000& * 11E¥HS 1,100
301 ptsazg 23,620 22,820 800
10 FAIAHIEA S 19,600 16,100 3,500
OMilEsdHus SOt =S4
5,000&  3,500H 17,500
O, &2 dFu=E LA Ol
70,000& * 308 * 13l 2,100
12 JIEIEAZ 4,020 6,720 22,700
OMNSSEADS SBNHE 1,980
—J2= 100,000& * 9ut= 900
. = 50,000& * 1AIZ2F = 91t= 450
— 04l 70,000 » 1 = 9t= 630
OS=2E d2u=s LdA==E 680
—J== 100,000& * 43| 400
— 04l 70,0003 » 1 * 43 280
OZHIN WS TA==H 850
—Jl2= 100,000& = 53] 500
— Ol Hl 70,000& * 12 53] 350
OALSH=NSE 2AE 510
—Jl2g 100,000 * 32l 300
— 04l 70,0004 * 1& * 33 210
4-H=E4 24,350 26,400 A 2,050
2 6,530
Al 17,820
201 ZEH2EH] 2,140 2,240 A 100
01 AtR2teldl 700 700 0
O4-H d=dl= W=
7,0008 * 50% * 23 700
03 @At2EH| 1,440 1,540 A100
OFAEe & AL & FHOIUM BEUHZ 320
-89 60,000& * 44 240
& & 4,000& » 200H 80
O4-H et2d=2H ARSI (0N K) 1,120
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ol FWAUE SATBOIHSY (Eh9): & 2
_ _ SIEN
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
NSENIET 500,0008 * 1CH 500
— W= M 4,0008 = 100% 400
TS 5002 * 2000 100
-8 60,0003 * 24 120
206 MH=Hl 2,850 2,400 450
&2 600
Al 2,250
01 MZHl 2,850 2,400 450
O4-H stBEE AU W2 (0L R)
30,000& * 153 450
O4-H Z& U= M= 30,000& * 403 1,200
O&W4-H UHIE WE(2H)
200,000 * 6w * 13l 1,200
=2 600
Al 600
301 utEas 11,000 13,400 A 2,400
&2 1,750
Al 9,250
10 BAIAHIENS 11,000 13,400 N2,400
O4-H & XS ieEsa &IHo
70,0008 » 20 * 13 1,400
O 4-H #Xa 24
5,002 * 508 * 23] 500
O4-H3l® B, SS9l BAEA Of
70,000& » 10ZF * 23| 1,400
Ok 4-H Z&Uzl &It
70,0008 » 20 * 13 1,400
O4-H BZSHARHE EIH0I
70,000& = 20€ = 13 1,400
O4-H SsDE EHIH0HI(2S)
70,000 * 209H 1,400
O4-H 2RI &2 2 V2NZDS O
B (22) 70,000& * 509 3,500
= 1,750
Al 1,750
307 QIZ2t0IA 8,360 8,360 0
2 4,180
A 4,180
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M =glIsdH
B S &4 XA
el SE MBR5 A LR
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
307 2IZ2t0lA = 1,500
Al 3,500
02 BlZtFAE=X 5,000 0 5,000
OsZEk LFEsT2NH2AXNE
5,000,000& * 102 5,000
& 1,500
Al 3,500
402 QIZEXE01H 70,000 100,000 A 30,000
= 21,000
Al 49,000
01 QUAR=2EX 70,000 100,000 230,000
OSEALMBESH(HS)
30,000,000& * 1JH2 30,000
= 9,000
Al 21,000
OsalsE 24 10,000,0008 * 4742 40,000
= 12,000
Al 28,000
sHEROXA(E) 50,400 36,000 14,400
= 20,160
L= 7,560
Al 22,680
307 2IZ2t0lA 50,400 36,000 14,400
= 20,160
& 7,560
Al 22,680
02 BlZtFAE=X 50,400 36,000 14,400
OsNEL0I X
900,000 = 70 = 80/100 50,400
= 20,160
& 7,560
Al 22,680
TEtd=e AEAS 5,456,731 3,925,169 1,531,562
= 2,702,903
& 489,357
Al 2,264,471
.
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2N SIS HE
HE: FEBASY ALY
o9 AEASY A k)
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
A=Y A 5,456,731 3,925, 169 1,531,562
2 2,702,903
= 489,357
Al 2,264,471
HNSASHS M4 SHXI 282,200 300, 100 A17,900
101 oIty 1,400 1,400 0
10 JIANEEASES 1,400 1,400 0
OSY HolE AZTYH A=Y
35,0002 * 4% * 20ha * 13| * 1/2 1,400
201 Ysr2gyl 3,500 3,800 A300
01 A= ell 3,500 3,800 2300
OXAZ2ANEHMEMMRL
5,0008 * 140 700
OY=AH E22 R0 3020 * 20,0000 600
OEY=sY 222 R0
100,000 * 2F * 53 1,000
OMMTeh=It ZAN R0
302 * 20,0000 600
ORASSHIYNEMAY ZAN R0
302 * 20,0000 600
206 &I 17,000 14,100 2,900
ST 17,000 14,100 2,900
OMaHCHHI OIHIR 23
3,0002 * 3004 X * 10ha 9,000
OSELLE) HYTD 2,0002 * 3007H 600
OSLYHE AT 50,0002 * 80ha 4,000
OREHEl, MAS, 25 S ELHAIS
M= 2 2 500,000 * 43| 2,000
OYF PLZHUSH(LHISL)ER 23
o 140,008 * 105 1,400
01 YEHI 6,300 56,300 50,000
10 BAMHEAS 6,300 6,300 0
OFAEY YsI&DT oHlESY
70,0008 * 208 * 13l 1,400
ORFs MEIIZDIY HAHSIED O
EX 70,0009 * 402 * 13l 2,800
OHBASHSEBI H0s OHI2Y
70,0002 * 2088 * 13l 1,400
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M S
|

Hal: AEAsY Al
ool HEASY A (e9: @8
_ _ MNuE o
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
ODNTOF 226t J|20s L A#s &t
ol A 70,0008 % 10 * 13 700
302 OIZEUTHAHZ A 50,000 50,000 0
02 SAoIMAHREAD 50,000 50,000 0
OARE MATIHSIH 27 X2
20,000,008 * 14! 20,000
OOFMZ WF SXHS P4
10,0008 * 30021 30,000
307 QI2t0IF 5,000 51,000 46,000
02 oINANEZX 5,000 2,000 3,000
OYFD7R0H B2 HUE 918 S2HA
5,000,008 * 1] 5,000
402 QAT0IH 199,000 123,500 75,500
NEESEEES 199,000 123,500 75,500
OZESIHTI L4ST AAL 22,000
—zex 10,000,0008 * 1 10,000
-2 % 7,000,008 * 1 7,000
-5 5,000,008 * 1 5,000
OUERNS(RYE)MMLL0SAAS 12,000
—zex 5,000,008 * 1% 5,000
-2 2 3,000,008 * 1& 3,000
-5 2,000,008 * 2% 4,000
OZESIHPIINY 3LEX B2
250,0002 * 500ha 125,000
OOFMES SXST6H AL X X2
A4 40,000
— X 1,500,0008 * 40ha * 50/100 30,000
L 500,00020 * 40ha * 50/100 10,000
A= SHAY 791,550 539,000 252,550
301 YstPAZ 379,800 160,000 219,800
12 JlEEaa 379,800 160,000 219,800
OYFH SUE MACX XV (LHS) 61,800
— AR 5,00020 * 9,000 45,000
— M ARI R Y 1,6002 * 10,500% 16,800
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R PIER
HEl: AEPSY AEAY
ool HEASY A (e9: @8
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o il i~ o Rz
OUYRAS(RYE) 018 ElHlMatsDt
B2 X 20,0008 * 11,900 238,000
OZESIHRI| SUMMER FH2iZ N
400,002 * 200ha 80,000
402 QIR+ OIF 411,750 379,000 32,750
N EEES 411,750 379,000 32,750
OFzD #o| ol 222 MACK X
1,000,0008 + 150ha * 50/100 75,000
OBl TSIt AEXIR
4,0002 * 60X * 2,500ha * 50/100 300,000
OYFWSBUE MACX XV (HHIEZ) 36,750
—ELWSH X
600,00021 * 70ha * 50/100 21,000
~ 2EHIZ X
450,00020 * 70ha * 50/100 15,750
NSRS ANPXZM (=) 200,000 140,000 60,000
=2 200,000
01 YprBAZ 200,000 140,000 60,000
= 200,000
12 JlE e 200,000 140,000 60,000
OEEEEEE B ] 430,1072 * 465ha 200,000
2 200,000
EAZAXNAHZXEM (=) 366,433 391,594 £25,161
= 256,503
= 32,979
Al 76,951
202 OiHl 7,721 0 7,721
= 5,405
= 695
Al 1,621
01 =Lioit] 7,721 0 7,721
OFAZ2INANIXSH & X 2ol
20,0022 * 386% 7,721
2 5,405
= 695
Al 1,621
301 LerEA3 358,712 383,311 24,599
= 251,098
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S A
X XH .
(=

chel:

ZE - (BH) - NRAY - BaS sl e HlRE2
301 LutEa=s S 32,284
Al 75,330
12 JIEt2 &3 358,712 383,311 A24,599
OxXA=SXNSAEX = A
358,712,000& 14 358,712
= 251,098
= 32,284
Al 75,330
EQMHEHBS(2) 515,500 433,201 82,299
= 412,400
Al 103,100
402 BIZ2HX =0l 515,500 433,201 82,299
= 412,400
Al 103,100
ARt tEE X 515,500 433,201 82,299
OELHEME= 515,500,000& = 12 515,500
= 412,400
Al 103,100
YIS XA (F) 2,827,250 1,397,784 1,429,466
= 1,740,000
= 326,000
Al 761,250
402 QI2EXE01M 2,827,250 1,397,784 1,429,466
= 1,740,000
& 326,000
Al 761,250
At tEE X 2,827,250 1,397,784 1,429,466
ORJIZHIS X &AL
4,349,615,384.6% » 13| * 65/100 2,827,250
= 1,740,000
= 326,000
Al 761,250
o2 EXNUXA(=) 188,000 19,000 169,000
= 94,000
= 28,200
Al 65,800
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M =glIsdH
HH: MEdsel AsAY
el AEAse Al (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
402 BIZ2HX =0l 188,000 0 188,000
= 94,000
= 28,200
Al 65,800
01 QUAXR=2EX 188,000 0 188,000
O=HI&=E SAHUXE
188,000
—EESIHHDI 188,000,000& * 14! 188,000
= 94,000
= 28,200
Al 65,800
HetBdsA2HZSUXNA(T) 18,750 36,000 217,250
& 7,500
Al 11,250
301 Lptsaazg 18,750 0 18,750
& 7,500
Al 11,250
12 JIEIEAZ 18,750 0 18,750
OXsZsdsHZEHUAA
5,000 = 7,50024 * 50/100 18,750
& 7,500
Al 11,250
B SAMEHAMIA(Z) 6,000 6,000 0
& 1,800
Al 4,200
301 YBtEAE 6,000 6,000 0
= 1,800
Al 4,200
12 JIEI2 A3 6,000 6,000 0
OXSZSHMEHAXE
20,000& * 300A 6,000
= 1,800
Al 4,200
EtdsgadessItol 2 700 11,200 A 10,500
HSEXASH(E)

_73_




2N =Y 2
Ha: @ ABAY
chel: &g A (e9: @8
_ _ SIEN
= A SRI(SIH) - NRAS - B S arey e HRE2
&gl AF24 561 < 700
M3 (=)
202 01| 350 5,600 A5,250
= 350
04 =RIsH0! ] 350 0 350
HE=RETRAME K Sl
350,0002 * 12 350
= 350
301 P43 350 5,600 A5,250
= 350
07 SEENT 350 5,600 A5, 250
= C LIPSV T LB
350,0002 * 12 350
= 350
NSHSHILZSNA(T) 40,000 40,000 0
= 15,000
Al 25,000
402 R0l & 40,000 40,000 0
= 15,000
Al 25,000
EEEEES 40,000 40,000 0
SRR R I
1,000,0002! * 50ha * 80/100 40,000
= 15,000
Al 25,000
HSRIZEXXH(E) 84,048 4,000 80,048
= 31,518
Al 52,530
402 PIZX2O0|H 84,048 4,000 80,048
= 31,518
Al 52,530
01 NECIES 84,048 4,000 80,048
QBF LN
100,000,00021 * 17H4 * 80/100 80,000
= 30,000
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R PIER
HEl: AEPSY AEAY
ool HEASY A (e9: @8
SN-EHH . SH(BH) - HPAY - BE2 Ofl & o ggi B2
Al 50,000
OHS2TY YEX
1,265,008 * 4944 * 80/100 4,048
= 1,518
Al 2,530
MASHESH(E) 21,600 16,000 5,600
= 3,600
Al 8,000
402 QIR+ OIF 21,600 16,000 5,600
= 3,600
Al 18,000
NEEEEES 21,600 6,000 5,600
ONEXSASMAARKIR
21,600
~HS DA XK
50,0002 * 240ha * 60/100 21,600
= 3,600
Al 18,000
SESX0SESEHXAAL () 12,000 25,000 13,000
= 4,500
Al 7,500
402 QI2AR0IH 12,000 25,000 £13,000
= 4,500
Al 7,500
01 2AT=EZE 12,000 25,000 A13,000
OEZZSTCTHES TN
1,000,0008 * 15ha * 80/100 12,000
= 4,500
Al 7,500
OO M AR () 35,200 16,000 19,200
= 10,560
Al 24,640
206 Tl 35,200 0 35,200
= 10,560
Al 24,640
01 M=ol 35,200 0 35,200
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M =glIsdH
HH: MEdsel AsAY
el AEAse Al (sl &
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
SECEETRE 40,0002 * 880HIE 35,200
= 10,560
Al 24,640
Fetdsed AATIA(L) 67,500 0 67,500
& 27,000
Al 40,500
201 L3 24,000 0 24,000
& 9,600
Al 14,400
03 A2l 24,000 0 24,000
OAAT FIIA HA Xz
600,000& = 40CH 24,000
= 9,600
Al 14,400
202 Oddl 1,500 0 1,500
= 600
Al 900
01 =hoit] 1,500 0 1,500
OAUAT EIIX &HB 22 OfH)
50,000 = 1 = 30 1,500
= 600
Al 900
301 YBtEa=s 12,000 0 12,000
L= 4,800
Al 7,200
10 BAIAHIENS 12,000 0 12,000
OUAT S0l AT 7
8,000& « 1,5000H 12,000
< 4,800
Al 7,200
307 2IZ2t0lA 30,000 0 30,000
& 12,000
Al 18,000
04 GCIZtHALE X 30,000 0 30,000
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R PIER
HE: FEBASY ALY
ool HEASY A (5l &2
_ _ SIEN
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o Rz
OUAT 292 &3] & =9
10,000,0008 * 1A 10,000
= 4,000
Al 6,000
OUAT HFAIS & HAXIY
10,000,0008 * 18l 10,000
= 4,000
Al 6,000
OUAT HAS X
10,000
—HASE 24 200,00080 * 25% 5,000
= 2,000
Al 3,000
—z2= 20020 2,500,008 * 24! 5,000
= 2,000
Al 3,000
HHL AP (SEXNEH) 127,015 134,400 A7,385
2 123,235 130,200 6,965
2 123,235 130,200 6,965
201 er2g| 25,935 29,040 A3,105
01 At 2tel| 25,935 29,040 A3,105
Os&EXNED 19,638
—= AT 2|
13,0008 * 202 A * 128 3,120
—=20A|
5,000 * 641 * 208 = 128 7,200
—Bh 242 10,0002 * 122 1,200
—AR2 AP 50,0008 * 128 600
— A7 Sl 8,500
= A %2l 500,0002 * 1.5CH 750
DRI 42
10,0002 + 5CH * 50/100 250
=A EY 200,0008 * 58 * 1.5C4 1,500
TelE £ 200,008 * 53 * 5Cf 5,000
pe2l 10,0002 * 20CH * 20/100 400
JIEN R 42l 50,0008 * 128 600
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SN SIS HE
HE: BH2AA (SEXNCD)
9l Jl= | (5l &2
= o MuE o
ZM . ERA(ZA) - NFAY - BES &hoh Ol AF o8 Hws2
—JIEt AREBHl 50008  20F « 128 1,200
— O EY 21,820,0002! * ~10/100 A2,182
O XA 6,297
—SAEX Pl
13,0002 * 622 « 122 936
—S20HAH 50008 * 341 x 6% * 128 1,080
—UEa42 100,000 * 3744 300
— 472 2l 4,320
=ZA| %2 500,0002 * 37H 2 1,500
ZRig 42
10,0008 * 3744 * 50/100 150
SADI EW 200,002 * 23] * 3H4 1,200
DRIE EU 200,009 * 28 * 34 1,200
pe2l 10,0008 * 6CH * 20/100 120
JIE +-2lt] 50,0002 * 30K 150
—JIEt AREEH| 5,002 * 6% * 122 360
— AR Y 6,996,0002 * ~10/100 £699
202 Ol 97,300 101, 160 3,860
BT 79,300 83, 160 3,860
OSZNE] YLEI 0| 77,200
—BHLHOI b
20,0008 * 122 * 20 * 122 57,600
—22l0it] 70,0002 * 142 * 20% 19,600
OXIRXA 2201t 70,0002 * 52 * 6% 2,100
2204 ] 18,000 18,000 0
OXNRXAXE B0
250,002 * 6% * 128 18,000
=R 3,780 4,200 £420
2| 3,780 4,200 A420
3 Ye=uY| 3,780 4,200 A420
SNEgYRENY 3,780 4,200 A 420
OsEXNED 3,780
—ENSYYRETY| 350,009 * 122 4,200
—olaE 4,200,000 * ~10/100 A420
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x

e rx mx
Sz
T
FA
0x

.|
T m

rol rx O
40 A 19
B

Z A

S5 ol & @
SN C(BH) - NRAY - HES o e HlmE2

=418 24 3,095,392 2,630, 158 465,234
= 285,811
| 265,459
& 393,332
Al 2,150,790

steity =4 796,449 538,815 257,634
| 87,026
& 99,353
Al 610,070

201012 H (=) 151,414 0 151,414
| 87,026
= 19,316
Al 45,072

307 gQiz2tolM 151,414 0 151,414
| 87,026
= 19,316
Al 45,072

02 BltFAE=X 151,414 0 151,414
OAMJ018 &R 151,414,000& » 14 151,414
| 87,026
& 19,316
Al 45,072

ZESIRLEHAHME(Z) 10,800 9,315 1,485
& 2,700
Al 8,100

301 YBtEAE 10,800 9,315 1,485
= 2,700
Al 8,100

12 JIEI2 &3 10,800 9,315 1,485
OB =etREHAHAMH 30,000& * 3605 10,800
= 2,700
Al 8,100

SOFXI M AL H AL (&) 43,800 43,000 800
& 13,140
Al 30,660

_79_




S A
X XH .
(=

chel:

rol rx O
40 A 19
S

Z A

x

e rx mx
Sz
T
FA
0x

T m

:

0x

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
306 =43 43,800 43,000 800
& 13,140
Al 30,660
01 =93 43,800 43,000 800
OSO0FX M AOFHE AL
20,000& * 4,380 = 50/100 43,800
= 13,140
Al 30,660
NSHEME(Z) 68,520 30,800 37,720
L= 17,231
Al 51,289
301 YEtEa= 41,800 30,800 11,000
& 10,551
Al 31,249
12 JIEI2 &3 41,800 30,800 11,000
Ot =TetolAl
550,000& = 805 =* 80/100 35,200
= 8,571
Al 26,629
ORASEMNE A 55,000& *» 1205 6,600
& 1,980
Al 4,620
307 glztold 26,720 0 26,720
L= 6,680
Al 20,040
02 SltFaExX 26,720 0 26,720
Oste SSHIAA
5,000& = 1,520 = 80/100 6,080
& 1,520
Al 4,560
082 S=22 UZ+FRNE
30,000& * 8605 * 80/100 20,640
& 5,160
Al 15,480
LS =S3IXNELH(E) 15,975 0 15,975
& 4,438
Al 11,537
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SN SYIEHE
B MEEMD|Y T
o9 BN S (S5 &)
_ _ _ Muo
K- Z3 . S2(3H) - MPAY - B Y= Ao Sl ko HRs2
402 SIZ2HX =0l 15,975 15,975
& 4,438
Al 11,537
01 QtR=8=x 15,975 15,975
OSYBON SHE MDA
25,000& = 710MIE = 90/100 15,975
= 4,438
Al 11,537
TASMAXAAMNL(E) 154,240 154,240
= 42,528
Al 111,712
301 YEtEa= 25,440 25,440
& 5,088
Al 20,352
12 JIEI2 &3 25,440 25,440
OZAME ZYH XA (ML2IX RIE|
) 60,000& * 53ha = 20& * 40/100 25,440
< 5,088
Al 20,352
307 QI2toIH 4,800 4,800
= 1,440
Al 3,360
02 BltFAExX 4,800 4,800
ONERES SR
240,000& * 50ha * 40/100 4,800
= 1,440
Al 3,360
402 QIEXE01M 124,000 124,000
& 36,000
Al 88,000
01 QtR=8=x 124,000 124,000
OZAME ZYA XA (ZLHFY)
150,000,000 * 1JHZ = 40/100 60,000
= 2,000
Al 48,000
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SN sIEME
HE: dHEA|P XA
Sl B MY S (S5 & 2)
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz
OXAZ M A FHIX &
40,000,0002! * 2K E * 80/100 64,000
= 24,000
Al 40,000
YT BUCS SH AY 351,700 416,700 65,000
201 ereoty| 33,700 30,700 3,000
01 At 2eltl 8,700 5,700 3,000
OYFES SUCAY =& 8,700
—E22 M 3008 * 5,00004 * 55 7,500
— T M 40,0002 * 3004 1,200
02 ZT2YH| 25,000 25,000 0
OR+EHS BYS HAS(MASH 25
) 25,000,008 * 122 25,000
01 YerEaz 10,000 3,000 7,000
12 JlEtR A3 10,000 0 10,000
Ot MACH HACCP 915 e X8
5,000,002 * 444 * 50/100 10,000
307 QI2H0IF 283,000 238,000 45,000
EEEPEES 4,000 4,000 0
OYF2 RS(LH)Hl X
4,000% * 2,00024 * 50/100 4,000
05 2I2reIEr3 279,000 234,000 45,000
ODNER HFE HUCS FHAY 279,000
—HIS5I| Mg AEH
10,0008 * 1,000 100,000
—s=s=Y| 6,000% * 4,0005 24,000
—SUBONNZE 24 50,0002 * 4005 20,000
~2ESE2 HA T2
50,0009 * 4005 20,000
~DEI SUMCS AN
10,0008 * 4005 40,000
—YEER X DHIHAY
7,500% * 10,0005 75,000
402 DI2EXHEOIF 25,000 30,000 A5,000
01 PRAEEE 25,000 30,000 5,000
O4 238 NSHIZX &1 X
50,0008 * 1,0004 * 50/100 25,000
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A sII=4H
M JdAFADE XY

CHol: JIEFYY 2F (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
IEdgEY 23 916,683 785,816 130,867
= 160,011
Il 68,708
& 147,570
Al 540,3%
g AE2H () 159,332 132,697 26,635
= 109,422
& 24,955
Al 24,955
206 M=l 159,332 132,697 26,635
= 109,422
& 24,955
Al 24,955
01 MZHl 159,332 132,697 26,635
OJtEgoiorg 2ely
159,332,000& * 14! 159,332
= 109,422
= 24,955
Al 24,955
A B24de MEBEU(2) 192,720 74,900 117,820
= 50,589
= 35,412
Al 106,719
301 YBtEa= 192,720 74,900 117,820
= 50,589
= 35,412
Al 106,719
12 JIEI2 A3 192,720 74,900 117,820
Ox 24P HEEAY)
8,000& * 24,0905 192,720
2 50,589
= 35,412
Al 106,719
SSYHS XA (=) 137,416 127,640 9,776
Il 68,708
& 20,612
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A sII=4H
M JdAFADE XY

CHol: JIEFYY 2F (et9l: &2
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
SSYHE X3 (=) Al 48,096

206 M=l 33,196 30,818 2,378
| 16,598
L= 4,979
Al 11,619
01 MZHl 33,196 30,818 2,378
OSsYHE MH=IUIXA
16,598,000& * 25 33,196
I 16,598
= 4,979
Al 11,619
301 YEtEa= 104,220 96,822 7,398
| 52,110
= 15,633
Al 36,477
12 JIEI2 A3 104,220 96,822 7,398
O8N 2HHIXE
54,000& * 1,930= 104,220
| 52,110
= 15,633
Al 36,477
IISEYMHEAME(Z) 212,680 95,550 117,130
& 66,591
Al 146,089
206 M=l 105,320 77,070 28,250
& 31,596
Al 73,724
01 MZ 4l 105,320 77,070 28,250
OS0HX A 15,000& * 1,930 28,950
& 8,685
Al 20,265
O 222 g 2
10& * 2,770,000 27,700
< 8,310
Al 19,390
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A sII=4H
M JdAFADE XY

ool JIEMYY 28 Rk
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ao il i~ o 2
SECE] 5,008 * 4702 2,350
= 705
Al 1,645
OASAE 6,0008 * 7,720 4 46,320
= 3,896
Al 30,424
01 YBEHI 87,310 18,480 68,830
= 28,755
Al 58,555
12 JIEeaS 87,310 8,480 68,830
OULEE AZHINR 1,002 * 14,8305 14,830
= 4,449
Al 10,381
OZ+9 +gX2 800,0002 * 4 * 128 38,400
= 15,360
Al 23,040
O4 Z2dety W=
8,0002 * 4,2605 34,080
= 8,946
Al 25,134
402 PIZERIZO0IH 16,750 0 16,750
= 5,250
Al 1,500
REFEEEES 16,750 0 16,750
OBMsIH 5YT LASAA
3,000,0002 * 694 * 60/100 0,800
= 2,700
Al 8,100
OF4sIt ASHHIX
500,0002 * 17CH * 70/100 5,950
= 2,550
Al 3,400
405 XrarE S 3,300 0 3,300
= 990
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SN SIS HE
HE: dREA(E XA
ool JIEMYY 28 Rk
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
405 XarE S Al 2,310
01 XHAYLSEFSH] 3,300 0 3,300
OXYE 28 YD 300,0002 * 11CH 3,300
= 990
Al 2,310
IIEHYY ol 214,535 117,700 9,835
101 Q12| 3,000 0 3,000
B EENEEES 3,000 0 3,000
O 2242 4HE 87 ARy
10,0008 * 12§ * 303 3,000
201 L2yl 35, 140 5,700 29,440
01 ARl 27,220 5,700 21,520
ON=EFYY oy =7 1,500
—E2 2 N
30020 * 1,00004 * 3% 900
—%o X 60,0002 * 1034 600
OTHMe, 2242 28 =3 7,600
—2ANARIN IR 10,0008 * 90= 900
—ASHA JIER 5021 * 4,000 200
—otd JERY 222
5002 * 2,000 * 3% 3,000
—AXE WX EAIE 30,0008 * 1007 3,000
—HEEE M 1002 * 5,0000H 500
O}N=ERY IS 4,500
~NB=E BN 30,0002 * 15074 4,500
O B2ty MM QF Xo=
100,000 * 102 1,000
O4 =242ty yoige otE |
50,0002 * 20% * 2F 2,000
OZSUHESE YN FH 7Y
20,0008 * 15 * 513 1,020
OZU4olA S4 UAEB 300,008 * 122 3,600
ONEHYY AHE ZH X2
400,000 * 153 6,000
00 B2 7,920 0 7,920
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2N sgIlsHE
M dAFADIIEE T4
&Rl Ji=dgdE 28 (cro|: ® e
SA - EH .S (BIH) - NBAY - B A Off &b o8 g HDS2
- C o= I T T L (] 0:”{:'_% VSso
OYgAA=2Hl =AY
100,000& * 4004 = 50/100 2,000
OJIsaY HAIAIZ Sl
40,000& = 12& 480
OsseHHt A5s2 28 2¢
1,600& * 1700 = 203 * 104 5,440
202 O] 2,100 2,100 0
01 =2WAbI 2,100 2,100 0
OJI=EFYEY A2 e L 282 9
2| 70,000& * 28 = 153 2,100
206 M ZHI 76,895 47,000 29,895
01 MZ=bl 76,895 47,000 29,895
OHY 2E22Y HgAy=E 2
10& = 2,700,000% * 13 27,000
O22 IIsgd %42 2¢
20,0003 = 250kg * 2& 10,000
OXF CEZL} HH A=SHE
20,000& * 250kg * 2= 10,000
Oa BE24e aAd=ME #+Y 23,100
— 0t Al 5,000& * 3005 1,500
—HIE 100,000& * 303l 3,000
— MG 3,000& * 3005 = 5L 4,500
—5g 3,000& * 3005 * 2% 1,800
— & A 30,000& * 303 900
—0lE &= 50,000& = 209K 1,000
-0 4,000& * 3005 1,200
— 520t 50,000& * 304 1,500
=8 & 40,000& = 5J4 200
—MEES FAD| 1002 = 30,0004 3,000
—MERA A= 4,500& + 1,000 4,500
O=sSg¢HHE gds 2
45003 * 17IHCE = 3% » 10<Y 2,295
OA BER4etY UMsE HIEE AS2AE
2 3,000& * 150X x 10 4,500
301 etgA= 82,400 60,900 21,500
12 JIEIEAZ 82,400 60,900 21,500
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A sII=4H
M JdAFADE XY

gel Jisdgd 22

_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Aol Ol Ak O =
ONERY HHYSE ASH Al (LA
) 800,0008 * 2% * 122 19,200
ONERY HFYSH ASAY A2 MY
8,0002 * 1,0005 8,000
OZ4o 2% 800,0008 * 4% * 122 38,400
OXN=gQ s 282
300,0008 * 11 3,300
O4 B2dely HEQA(LAA) S|
5,008 * 2% * 100 1,000
O4 B2ty 2He HHY H2UHIS
Xl 150,00080 * 100% * 50/100 7,500
OAMINENAY KU A
20,0009 * 2504 5,000
402 IR+ 0 15,000 0 15,000
01 SIAR=EX 15,000 0 15,000
OJNERY HIST ABAY A=K 15,000
—AS AL
3,000,0008! * 10742 * 50/100 15,000
MaD|EE = B 923,460 890,327 33,133
p 109,725
< 90,069
Al 723,666
3NRIA(Z) 156,750 134,190 22,560
p 109,725
= 14,107
Al 32,918
301 YstEAZ 156,750 134,190 22,560
p 109,725
= 14,107
Al 32,918
12 JIEEA3 156,750 134,190 22,560
O8N RIA 82,5002 * 1,900% 156,750
| 109,725
= 14,107
Al 32,918
HsXE(E) 20,000 0 20,000
= 8,000
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AN s
X| ZH -
S =

chel:

SAEFADIEE XY
MAlP 7E U B8 ol & @
SN C(BH) - NRAY - HES Aro e 2
SN (E) Al 12,000
402 QIZ2EX =0 20,000 0 20,000
& 8,000
Al 12,000
01 BIZEXI=22 X 20,000 0 20,000
OZRA ARAEIMEAMS
40,000,000& * 1JoHA = 50/100 20,000
= 8,000
Al 12,000
LEXNEAS (Z) 52,000 74,100 A22,100
& 10,400
Al 41,600
301 YotEAE 52,000 0 52,000
= 10,400
Al 41,600
12 JIEI2 A3 52,000 0 52,000
OBEREUAMAY
400,000& * 2605 * 50/100 52,000
< 10,400
Al 41,600
SAX AL (Z) 98,280 18,900 79,380
= 29,484
Al 68,796
402 QI2HX=E01 A 98,280 18,900 79,380
& 29,484
Al 68,796
01 BIZEAI=22 X 98,280 18,900 79,380
OH BT X &
70& * 2,088,0000H * 50/100 73,080
== 21,924
Al 51,156
O=HAN 2H X
3,5002 * 14,400% * 50/100 25,200
< 7,560
Al 17,640
AESAN AL (S) 9,360 35,300 A25,940
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A sII=4H
gt

Hal: MEEAD|Y XA
R e (5l &2
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
FE XA (F) = 2,808
Al 6,552
402 QIR+ OIF 9,360 35,300 25,940
= 2,808
Al 6,552
01 PRAESE 9,360 35,300 25,940
oY AZBXHAL
1,8002 * 6,50074 * 80/100 9,360
= 2,808
Al 6,552
AT RI B (F) 50,800 0 50,800
= 15,580
Al 35,220
402 QIR+ 0IF 50,800 0 50,800
= 15,580
Al 35,220
01 PANEDE 50,800 0 50,800
OYZA ALK
10,000,002 * 294 * 80/100 16,000
= 4,800
Al 11,200
OYEII R XI 2
1,200,002 * 10CH * 80/100 9,600
= 2,880
Al 6,720
OSA2I2EY o #BIAAHHM
30,000,000%! * 19§ * 50/100 15,000
= 4,500
Al 10,500
OOIRTIE MASKD FH|
17,000,000% * 1CH * 60/100 10,200
= 3,400
Al 6,800
MENIBAEXIA(E) 15,000 7,500 7,500
= 4,500
Al 10,500
402 QIR+ OIF 15,000 7,500 7,500
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SN sIEME
=6t

Hm: MAZAD|B EA
el MADIY 1E U B8 (sl &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
402 QI2HX=01 A = 4,500
Al 10,500
01 QIZIXI=2E2 X 15,000 7,500 7,500
OAREEIIN &
15,000,000& *2CH = 50/100 15,000
& 4,500
Al 10,500
FASMZHD(E) 17,300 3,000 14,300
= 5,190
Al 12,110
206 M=l 9,300 0 9,300
& 2,790
Al 6,510
01 M=l 9,300 0 9,300
OAMFREXEHIA 50,000 = 1869124 9,300
== 2,790
Al 6,510
307 2IZ2t0lA 8,000 3,000 5,000
& 2,400
Al 5,600
02 QItFAE X 8,000 3,000 5,000
OFHE B d EIILA XA
4,000,000& * 2824 8,000
o= 2,400
Al 5,600
NSAIEIIEE =4 426,870 223,620 203,250
201 L3 10,160 10,760 A 600
01 AtR2te 10,160 10,760 A600
SEYNSE & 3,300
-89 60,000& * 1504 900
—E82 300& = 2,0000H * 4= 2,400
O=4ts) LN ROl
4,000& » 1002 * 35 1,200
OSAtAL B& 1,000
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EA: sglI=HH
M MEEAD|E KA
el MADIB PE U B (9l &2
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- (=] - T - = S = o = 0:”/&,% Wsa
—l2tE 9 AEI5] g0l
20,000& * 1090 * 5= 1,000
OII=EEH ZAE S0 70,000& = 58= 4,060
OxgHE 24 ax2
30,0002 = 1000 = 23| 600
206 M =Hl 500 500 0
01 ME4| 500 500 0
Oxg2ded (=Y 2¢)
1,000& * 500H 500
301 etz az 34,660 15,460 19,200
10 SAIAIHIEAZ 4,060 2,660 1,400
OFENtsIE s | 70,000 = 40 2,800
O=AtHAF EIHAH Y] 70,000& * 3 * 63 1,260
12 JIEIE A2 30,600 12,800 17,800
OS2 ¢ HHE 12,400
-== 8,000 » 200 1,600
-4 1,800& * 6,0005 10,800
OFENsIH s 2AF = 200
—JE2= 100,000& * 23| 200
OAMEBZZ2 THHHSRIZA (AIEAIY) 18,000
— A SEEHXS 360,000& * 50ha 18,000
307 ©GI2t0|& 6,900 6,900 0
02 QI2HAAMNEX 6,900 6,900 0
O4Y=s A
13,800,000€ = 1JHA * 50/100 6,900
402 QIZ2tXt=0| A 374,650 190,000 184,650
01 BI2IXIE22xX 374,650 190,000 184,650
O%EsIF LRSI K&
2,000,000€ = 10CH * 50/100 10,000
ODNEZR =8 MAR 2T
20,400,000& = 14! 20,400
OUH2 AF2ZZ2THHE X (500na) 306,400
—ANEXE S 2L 200,000 * 500ha 100,000
— A2l X HMlZH|
60,0008 * 172ha = 20 206,400
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SA: =zl
M MEREADE XA
R ol F )
_ _ _ Muo
Mo E - SRI(3]) - HRAY - BES Aboy e HIRZE2
OYFE MEE Y(2I)7L
6502 * 50,0008 * 50/100 16,250
%= I (AZZ)KE
1,8002 * 15,0007 * 80/100 21,600
ZNE AHEH 2 B 77,100 52,100 25,000
202 ol 2,100 2,100 0
01 =LHoiH 2,100 2,100 0
ZAE HTHAF B
70,0008 * 1% * 52 « 63 2,100
307 eI2t0IF 30,000 35,000 5,000
04 BIIBAIZE 30,000 35,000 5,000
SABNE NP Y BEEA A
1,000,000 * 53| 5,000
OH=Z 2LEMS BUC AW L
A3l & 50,000,0002 * 13l * 50/100 25,000
402 DIEXHE0IH 45,000 15,000 30,000
01 PIRESE 45,000 15,000 30,000
SAZNE SUS T N
20,000,0008 * 23 * 50/100 20,000
OZMZ HNeH 0/SA BHIHZXR
100,000,002 * 1CH * 25/100 25,000
SEERENEE 446,200 398,700 47,500
= 125,800
= 56,340
Al 264,060
ENE2LHEIAL(R) 262,800 80,000 182,800
= 125,800
= 41,100
Al 95,900
301 LerE AR 50,000 0 50,000
= 25,000
= 7,500
Al 17,500
12 JIEEAs 50,000 0 50,000
OUY| AZH XS 160,0008 * 312.5ha 50,000
= 25,000
< 7,500
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SN s SME
Hal: MEEAD|Y XA
ool HEY B4 54 CLE-E)
SA BB H(BH) - MBAY - B2 Ofl & o giﬁgﬁg HRs2
Al 17,500
402 QI2T0IH 188,800 80,000 108,800
=2 83,800
= 30,000
Al 70,000
NEEEEES 188,800 80,000 108,800
OFM2EHIAE OHEAIA)
16,000,002 * 10744 * 50/100 80,000
= 48,000
= 9,600
Al 22,400
Ol HEE
17,000,002 * 84 * 80/100 108,800
= 40,800
= 20,400
Al 47,600
405 R&HHSH] 24,000 0 24,000
= 12,000
= 3,600
Al 8,400
01 RNLSEFSH] 24,000 0 24,000
Oyl gE 24| 24,000,008 * 1k 24,000
= 12,000
= 3,600
Al 8,400
HNBHEMTAAL(T) 41,200 38,400 2,800
= 15,240
Al 25,960
206 M=l 2,800 0 2,800
= 840
Al 1,960
01 M=ol 2,800 0 2,800
O MLRIXIHZE &R &
80,0008 * 351 2,800
= 840
Al 1,960
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SA: =zl
Ha: MREMD| B XY
ool FEY =M 84 (E49: & 2)
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2
402 DIRERHE0IH 38,400 38,400 0
= 14,400
Al 24,000
01 PIAREBE 38,400 38,400 0
O F&y SHXHA
120,0008 * 400AIE * 80/100 38,400
= 14,400
Al 24,000
ey s4N 142,200 118,700 23,500
201 pr2oyl 2,000 2,000 0
01 At=R2elt] 2,000 2,000 0
OSME5L oyl ALK BAB M
20,0008 * 10074 £ 2,000
01 Yereaz 700 12,200 A11,500
10 BAIAHIZAZ 700 700 0
OFMEL W &40
70,0002 * 23| * 5% 700
402 DIEXHE0IH 139,500 104,500 35,000
01 BIIRESE 139,500 104,500 35,000
OUHIRSHE YRAUH|MA LS 23
1,000,008 * 3944 * 50/100 19,500
OEMBINLE I B3 70,000
—sg 2,5002! * 20,000% * 50/100 25,000
— AR
1,8002 * 50,000kg * 50/100 45,000
oney =FKY
10,000,0002! * 1094 * 50/100 50,000
s2 25 12,600 16,500 3,900
RlsE 2snel 12,600 16,500 3,900
301 YsBAI 3,000 3,000 0
12 JIERaa 3,000 3,000 0
OSSS= AAE B Azl
3,0002 * 1,0005 3,000
307 212H0IH 9,600 6,000 3,600
CIEECEE 9,600 6,000 3,600
ORIIES 254 9 29|
80,0002 * 122 9,600
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2N =Y

X| ZH -
S =

chel:

K- B3 S (3IH) - NEAY - Ba 2 e 2t
EMIE MY 113,770 323,538 N 209,768
= 11,250
= 6,000
Al 96,520
Al B3 113,770 323,538 N 209,768
= 11,250
= 6,000
Al 96,520
SN2 AIH( (=) 15,000 220,000 205,000
= 7,500
Al 7,500
402 QIZ2HXE0| A 15,000 200,000 A\ 185,000
= 7,500
Al 7,500
01 QI2X=2EX 15,000 200,000 A\ 185,000
OnEX 5
15,000,000& * 14 15,000
= 7,500
Al 7,500
StASZHIRHE (=) 7,500 0 7,500
= 3,750
Al 3,750
101 2124 d| 6,300 0 6,300
= 3,150
Al 3,150
10 JI2ZtHZ2Z2 X 6,300 0 6,300
O &=F B8X
35,000& * 19 = 180 6,300
= 3,150
Al 3,150
206 M= 1,200 0 1,200
= 600
Al 600
01 MZ=bl 1,200 0 1,200
O A & gtHorE 400,000& * 33 1,200
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_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES e Ofl At ot HwsZ
2 600
Al 600
HEAFAHEIE(E) 18,000 15,000 3,000
= 6,000
Al 2,000
402 QUAOIH 8,000 15,000 3,000
= 6,000
Al 2,000
N EEES 18,000 15,000 3,000
OB AFR | HACCPI SE S A &
20,000,0008 * 14! * 90/100 18,000
= 6,000
Al 12,000
ELD S ALY 7,090 41,290 ~24,200
101 QI24Hl 1,750 3,500 A1,750
10 JIZH2ZNS2+ 1,750 3,500 21,750
OZ4I|2 BOAY A ool
35,0008 * 58 * 10 1,750
201 Ygreg| 3,900 4,340 A440
01 At el 3,900 4,340 A 440
ONIDILt 849 M
60,0008 * 520} * 33| 900
OJlsE NRUT w2t
10,0002 * 320F * 100 3,000
202 OiHl 840 0 840
01 =Uhoid 840 0 840
OSMDSHA BAI|EEY A2 SOl
70,0008 * 2% 63 840
301 YstEA 5,600 4,950 650
10 SFAAEZAS 5,600 3,600 2,000
OZ & Dpsr =B OH(MOU) MIDILE & A
70,0008 * 420F * 202 5,600
402 2U2AX0IF 5,000 25,000 A20,000
N EEES 5,000 25,000 20,000
OLEM LEAL 5,000,008 * 14! 5,000
UFES W T4 5,000 9,260 A4,260
206 Mzl 5,000 0 5,000
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S A
X XH .
(=

chel:

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
01 MZ bl 5,000 0 5,000
OBt CHFAIS HEHA X 5,000
—A 2= 50,0002 = 1005 5,000
SE=sEa 23,880 3,000 20,880
201 L2yl 1,800 2,300 A500
01 AFR22IH] 1,800 2,300 A500
OFMII=XT AIEAME EF 1,000
—HEZ 100,000& * 1074 1,000
OF&AHFS AHOILE RSN
4,000& * 1008 * 23| 800
206 MEl 20,000 0 20,000
01 TZl 20,000 0 20,000
OetsHISE /st XY 20,000
— 00| = A 200,0008 * 1005 20,000
301 LBrENE 2,080 700 1,380
10 SAIAHIEAS 1,400 700 700
O=3E A73 J=H&3
70,0002 = 10 * 23| 1,400
12 JlEt2a3 680 0 680
OF4AMOILL d2Hs ZAE 680
-Jez 100,000 * 43| 400
— 04| 70,0002 * 4% x 13| 280
e FEapea 2 27,300 0 27,300
201 ZEH2EH] 3,300 0 3,300
01 AFR2r2IH] 300 0 300
OZYZICHA T =] 100,00094 * 3% 300
02 232 3,000 0 3,000
OFIctal ZHHl RXIHI(AFHIOIEH S 155)
300,0008 * 10& 3,000
207 SARINLH] 18,000 0 18,000
03 AlE& 3l 18,000 0 18,000
Oz atd stz 29 6,500
—A 2 THE 300,000& = 52 1,500
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SA: SYIISHE
A ZMXE A
el 2ADIE &

_ _ HE T
SA-EHB . CA(ENH) - HEAY - BE2 Ofl &F o4 il i~ o HRs2
—ZSI A KK 10,0002 * 5005 5,000
OYFES +HBMA U O[ATTY
50,0002 * 1505 7,500
OZSIIYY L +FDSMS I
200,0002 * 202 4,000
301 YA 6,000 0 6,000
12 JIEIEAS 6,000 0 6,000
O+TE MU B 300,000 * 205 6,000
ASHS MAMIIEET 99,500 81,930 17,570
=2 12,500
= 3,000
Al 84,000
ZoloIa YB3 Jls 34,190 52,880 A 18,690
Ol MJIZE AZES 34,190 5,880 28,310
101 o121l 5,250 0 5,250
10 JAN2ENE2+ 5,250 0 5,250
O0l4 HWEZ 0122
35,0002 * 158 + 103 5,250
201 Y2yl 1,040 1,040 0
01 A2zl 1,040 1,040 0
Oolatpe AlgAIY E2
10,0008 * 2944 200
OSH73 IR DI
4,002 * 705 * 33 840
206 Mzl 16,500 1,500 15,000
01 M=l 16,500 1,500 15,000
OO0y HEE &X 8,500
—oIEX 22l 7002 * 5,000 3,500
—ElHl L ASARK
2002 * 5% * 5,000 5,000
O2% WEZ &3 8,000
—BX 2 MR 2,000,0002! * 4ha 8,000
301 YR 1,400 3,340 A 1,940
10 BAAUEAS 1,400 2,800 A 1,400
Oolatei s J&eiz OfH|
70,0002 * 20% 1,400
402 PIZX2O0IH 10,000 0 10,000
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A sII=4H

M ASX2 MAI|SEE
Cel: SIIoA HES D= CERE))
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
01 QI2tX=2E X 10,000 0 10,000
O2E Mol HEOlA MALAIY
5,000,000 = 2J0HA = 50/100 5,000
OAsa HERH ZIl0a 22 249 2
SAIS 5,000
—=SNH 10,000,000 = 13| * 50/100 5,000
MIls B2 65,310 29,050 36,260
= 12,500
== 3,000
Al 49,810
AR SAIH (AD =22 A8 ) (2) 25,000 0 25,000
= 12,500
Al 12,500
402 QIZ2EXE0| ™ 25,000 0 25,000
= 12,500
Al 12,500
01 QI2X=2E X 25,000 0 25,000
O B4 "HIEda L S Al-
25,000,000& = 1JHZA 25,000
= 12,500
Al 12,500
NEZE EEXHE MAM(E) 10,000 0 10,000
= 3,000
Al 7,000
402 QIZ2EX =0l 10,000 0 10,000
== 3,000
Al 7,000
01 QIZX=2BEXR 10,000 0 10,000
O UK 50%E 2 HATHBHII=
10,000,000& * 14 10,000
o= 3,000
Al 7,000
AZINZ AST Y 30,310 29,050 1,260
201 B2 HH| 500 250 250
01 ArR2t2| | 500 250 250
OSHAIEAIY HE 100,000 * 54 500
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SN SIS HE
By LSS YAI|SEE

el MIIs 23 (&9 ®H
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
206 M= dl 1,900 2,400 A500
01 M=ZHl 1,900 2,400 A500
OFN SEHSSA SAE
500,000& * 2Jf 4 1,000
OFMWSXN ss4= SNX2E 4N 7
3,000& = 300ha 900
301 YEtEa= 1,910 1,400 510
10 dAIAMHIEAZ 1,400 1,400 0
OsZeinsl JlEe &Y
70,0002 * 102 * 23] 1,400
12 JIEtEH3 510 0 510
OEXHFS 2L M 510
—J2= 100,000& =+ 33| 300
-0 dl 70,000& » 1¥ * 33 210
402 QIZEXE01H 26,000 25,000 1,000
01 2UAXR2EX 26,000 25,000 1,000
OLNBE Mi ETHHIAIE (HIE FE)
10,000,000 * 3JHZ * 50/100 15,000
ORLYEZTAX(Gt=2, 52,4 S)H
S SAAE 5,000,000 * 4J42 = 50/100 10,000
OZctXl MEH= MY
2,000,000& * 1ha * 50/100 1,000
Sot&AE dagt &4 4,381,650 3,073,990 1,307,660
s 1,531,000
& 774,120
Al 2,076,530
SI10la 3R 23t 3,156,980 2,051,600 1,105,380
s 1,531,000
& 563,000
Al 1,062,980
NELESFEAML () 1,281,000 0 1,281,000
s 1,031,000
L= 250,000
401 AIEHIZLROY| 1,281,000 0 1,281,000
s 1,031,000
& 250,000
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A sgllsdH
HH: SaR2 MADE XA
ool EJlola W 245 Rk
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
01 AlI&HI 1,281,000 0 1,281,000
O3JN&E=HX7 2NN x4
1,281,000,000& = 14 1,281,000
s 1,031,000
= 250,000
Z0F NGSsAS (sZ8HEE)(2) 700,000 740,000 240,000
s 500,000
& 60,000
Al 140,000
RIZtX=01d 700,000 740,000 A 40,000
s 500,000
L= 60,000
Al 140,000
QIZtXI=2E X 700,000 740,000 240,000
SIQUATES3 IISAIEEX
1,000,000,000& * 1Al * 70/100 700,000
[ 500,000
= 60,000
Al 140,000
A H(E) 1,146,000 950,000 196,000
= 253,000
Al 893,000
Q=01 1,146,000 950,000 196,000
& 253,000
Al 893,000
At tEE X 1,146,000 950,000 196,000
CIMDSFIMES JISAELX
150,000,000& * 6JHZ = 60/100 540,000
= 135,000
Al 405,000
OIAERQ MATIR
70,000,000& * 10ha * 50/100 350,000
< 70,000
Al 280,000
Ozl SA A THEH X &
4,000,000& = 80ha » 80/100 256,000
< 48,000
Al 208,000
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SN sIEME
HE: SIS MAD|E Xy
ol ZDlola AW L3 (5l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
Ol A AL B BHE ALY 28,300 1,600 26,700
201 Lpr2y| 800 1,300 A500
01 At 2el| 800 1,300 500
OQIAERD MA THH] DI DI HMA
5,002 * 1002 500
OQI&H(SEAY 22 #40
60,0008 * 54 300
207 1Ll 15,000 0 15,000
NBEEEET] 15,000 0 15,000
OBJIoI4 HASTHESE HAEY 15,000
— o121l 11,706
CEE U OASAD ARIEA 24
1,866,6662 * 14! 1,867
RN ESY U EYS 2A
5,600,0002 * 14! 5,600
SINF NEX2 HY
3,053,008 * 14 3,053
CEUBD Y AESIN A
1,186,008 * 14! 1,186
—EIAAY 9 55 2,583,008 * 14! 2,583
—prarelt) 711,008 * 14 711
402 QIR+ OIF 12,500 0 12,500
01 AR=LZE 12,500 0 12,500
OQMTHEHDIHBIXIB AR (CHS X H2D1)
YR 5,000,002 * 5CH * 50/100 12,500
Z|FX R BBNEY 1,680 0 1,680
202 Ofl 1,680 0 1,680
01 =Loit] 1,680 0 1,680
OZIIHANPBRNELAY EF0HH|
70,0009 * 2% * 22 * 63 1,680
Ssixg M 1,224,670 1,022,390 202,280
= 211,120
Al 1,013,550
OF F M A BHE A () 93,250 115,000 ~21,750
= 18,650
Al 74,600
402 QIR+ 0IF 93,250 115,000 ~21,750
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sgJlsdH
Ssta=E Mgt &4
Ssixe M (et9l: &2
SN HH G (EH) - MBAY - BYS Ak Soe s
402 SIZ2HX =0l = 18,650
Al 74,600
01 QIZIXI=2E2 X 93,250 115,000 221,750
OA=MAAI L LI XTH AR
186,500,000% * 14! * 50/100 93,250
= 18,650
Al 74,600
MAERSSH(T) 794,820 543,600 251,220
& 132,470
Al 662,350
402 QIZEXE01H 794,820 543,600 251,220
= 132,470
Al 662,350
01 QUAR=2EX 794,820 543,600 251,220
OolZ a2 D]
1,760,000& = 10CH = 60/100 10,560
= 1,760
Al 8,800
OLAFHEDI 2,000,000 * 8CH = 60/100 9,600
= 1,600
Al 8,000
OLFHEZME 610,000& = 10CH * 60/100 3,660
< 610
Al 3,050
OMES. | 200,000,000& * 1ha * 60/100 120,000
< 20,000
Al 100,000
OMAER EHIAEI| B3
4,000,000& = 25CH = 60/100 60,000
& 10,000
Al 50,000
OMAEZR HIJHEAE
200,000,000& = tha * 60/100 120,000
< 20,000
Al 100,000
OSXI XA
130,000 = 1,500& = 60/100 117,000
& 19,500
Al 97,500
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A sgllsdH
B Saxe MA|Y X4
TPl SEEE MY (Et9l:H e
= X XH Ctel (s =] A HAX2 A} OH X‘—-IL‘E—“:— =2}
(Al

50,000,000& = 1Al = 60/100 30,000
S 5,000
Al 25,000
O XNHASE zatH s A
38,000,000& * 4& = 60/100 91,200
S 15,200
Al 76,000
OMAZE AXIIES
4,000,000& * 10CH = 60/100 24,000
S 4,000
Al 20,000
Ofl=MA 2ESBsUHIHAA
37,000,000& * 4& = 60/100 88,800
S 14,800
Al 74,000
OHAZ MM DA (S Et2IH A THEH AL 2
M) 4,000,000& * 20CH = 60/100 48,000
5= 8,000
Al 40,000
OHAZ BRI (MSOIH A THEH AL 2
=P FUDNECD 120,000,000 = 141 * 60/100 72,000
S 12,000
Al 60,000
FTAUS A0 ZLMAI TR A(E) 96,000 16,000 80,000
S 24,000
Al 72,000
402 2I2tt=0ld 96,000 16,000 80,000
= 24,000
Al 72,000
01 BIZtA=E=x 96,000 16,000 80,000
OHANHGME (MSHEEHIIR)EHIXE
1,200,000& = 100CH * 80/100 96,000
S 24,000
Al 72,000
SHEIMAAIS MR DX (Z) 90,000 60,000 30,000
S 36,000
Al 54,000
402 2I2tt=E0ld 90,000 60,000 30,000
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SN SYIIEHE
D SRS MAD|E XY
ol SHXE M Rk
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Ao il b o bRz
0I2HRH 20| & = 36,000
Al 54,000
E=TES 90,000 60,000 30,000
OSB3I MAAI S Z Y DX
30,000,0008 * 6JHAFR! * 50/100 90,000
= 36,000
Al 54,000
R MY S 9,000 150,000 A54,000
DI2HRH 20| R 9,000 150,000 54,000
AE=EES 96,000 150,000 54,000
Og=XY ASHS(DF, 4% S)20l)
e (RET+HIL)LX, YEXS 96,000
—HIolE A
12,000,00020 + 10ha * 50/100 60,000
—aE 1,200,0008 * 60ha * 50/100 36,000
NEEEEERY 54,600 71,550 216,950
QB A2 2,800 2,800 0
S ATAHI 2 A S 2,800 2,800 0
OSH=I RROY 24
70,0002 * 20 * 23] 2,800
DI 2HRHZ 0l & 51,800 48,750 3,050
EETES 51,800 48,750 3,050
OHAXTNSIH N 51,800
— A
11,200% * 3,500 * 50/100 19,600
—ozLs 2,800Z * 23,0002 * 50/100 32,200
SEPIESTE 413,996 626,596 A212,600
NEE-ISIESEL 330,910 467,898 136,988
o7, AE, ASAY 153,910 31,950 121,960
o124l 30,800 13,650 17,150
10 JAH2EZNSES 30,800 13,650 17,150
OSiT A8, ASAY Zeolisel 30,800
—DEgsAA Bel
35,0002 * 2% * 502 3,500
—Z¥2, BX, €, TZEY
35,0002 * 33 * 302 3,150
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M =glIsdH
M =YIl=Heg
o XNYsd D= (cto: &2

_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
—A2IHE, 22l S
35,0002 * 3% + 402 4,200
—EHE el ¥ W=
35,0002 * 3% « 402 4,200
— xR 35,0009 * 3% * 102 1,050
— UM AFZBEl 35,0008 * 1Y * 90 3,150
—OrM3H, NASHE 2IMY
35,0002 * 3% + 702 7,350
—EZ SM Y =9
35,0002 * 3% + 302 3,150
—CEM 228 45
35,0002 * 1% « 302 1,050
201 Lpr2 Yyl 18,040 0 18,040
01 At 22l 2,010 0 2,010
O%T, Ng, A2 810
—AmE 3,000%! * 707 210
—zEz 10,0008 * 307H 300
—E 30,0002 * 107H 300
OZZHl Ut 30000020 * 10 * 43l 1,200
02 ZT2YH| 16,030 0 16,030
ONEEZ 2% 513 R 1,240
—3R 1,500 * 400 ¢ 600
—feR 1,60021 * 400 640
ONBEI A2 KA 13,090
—22IA 10,0008 * 33m 330
~HeHED 10,0009 * 32m 320
—= MR A 10,0008 * 268 2,680
—gees 10,0008 * 336 3,360
—XEsoRAL 7S 800,008 * 85 6,400
O=J1 KA 1,700
— s 500,009 * 1CH 500
— 2| 200,008 * 2% 400
—ZeIlel 35 200,008 * 43 800
206 &bl 23,020 7,500 15,520

- 107 -




2N sgIIsdH
I s =M
el NYsg JIsiHeg EER-E

SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
01 MZHl 23,020 7,500 15,520
O3 LM A=HI 10,500
—sFAN= 10,000& * 6002 6,000
—JIEN(Z2DD], HAR)
10,000& * 300 3,000
—gdorgdl S AISME 30,000& * 503l 1,500
OHR, AlE, &E32 29 12,520
—AgE ¥ 300& = 1,00074 300
—0ILI DR EZ 4003 * 1,000 400
—&gE Hsl 20,000& * 1094 200
—& 6,000 * 2004 120
—Hl=, &, HlE S 3,000,000& = 14l 3,000
—oF, 42H = 2,000,000& = 14 2,000
— &AM 1,000,000& 14! 1,000
— ™AL X 3,000,000& = 14l 3,000
— 242 Hlz ¥ gl 5,000&  500% 2,500
207 SO 63,050 7,600 55,450
03 AlE &2l 63,050 7,600 55,450
OsZax aSAE 2,100
-S4 ¥ 3R 100,000& = 108 1,000
—Hz2 ¥ s% 20,000& = 1085 * 33| 600
— XH BH RFXH 500,000& * 14! 500
OAUXZE &SAE 2,000
-3k ¥ &= 100,000& * 5& 500
—H2 ¥ s 20,000& * 5& * 53| 500
— XH BH REXH 1,000,000& 14! 1,000
ONzxE MENE 2,350
-8 ¥ EBER 50,000& * 5& * 5kg 1,250
—Hlz ¥ s 20,000& = 108 * 33 600
— TH BH Xt XA 500,000& * 14! 500
OSEHE 23AE 4,500
- Y B2 50,000& * 103 * 5kg 2,500
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A sgllsdH
g sgll=Heg
=Pl NSse JlsHE

SN EY O (BH) - MRAY - BLS 01l & o e
—Hlz ¥ s 20,000& * 108 * 53l 1,000
— XH BH X+ AH 1,000,000& 14! 1,000

O0rdst ASAIE 2 B4 4,000
-3k ¥ B= 5,000& » 58 * 100= 2,500
-2 ZE 30& = 20,0004 600
—=2RE A& 8,000&% * 50LL 400
— XH BH RFXH 500,000& * 14! 500

OEZE ASANE ¥ &4 8,500
—=22 Ed40l 500& = 2,00074 1,000
—xE 30& * 40,0004 1,200
—IENHA 40,0003 » 100%£ 4,000
—&E 8,000& » 100% 800
-, MITIZAH 50,000& * 5& = 23| 500
— TH BH Xt XK 1,000,000& * 14 1,000

OslE 4SAg & 54 6,800
-S4 ¥ BER 2,000& » 208 * 50& 2,000
—=sE52E Ed0l 500& = 1,00074 500
—IE 100& = 20,0004 2,000
—&& 8,000& = 100% 800
—=% Y MFEIR

50,000& * 58 * 23| 500
— TH BH Xt XA 1,000,000& * 14 1,000

Ot S5 ASAE 7,300

—=228 58 7Y

10,0008 * 30& * 202 6,000
-tz € =% 20,000& » 5& * 33| 300
— XH BH RFXH 1,000,000& = 14 1,000

OZM ASAH 1,500
— AWM= 50,000& * 58 * 2& 500
—=%, MTIHK 50,000& * 58 * 2& 500
— XH BH X+ AH 500,000& * 14] 500

O AESAE 4,000
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M =glIsdH
M =YIl=Heg
o XNYsd D= (cto: &2

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
-3 30,000& * 208 * 5& 3,000
— XH BH X+ AH 1,000,000& 14! 1,000
Otlels ASAIE 5,500
-3k 10,0008 * 5& = 50 2,500
—Hlz, s% 100,000& * 5& = 23| 1,000
— & XA 2,000,000& = 14 2,000
OJI=8AAMY AE(AMARL) 5,000
-3k 2 ERB 200,000& * 1085 * 12 2,000
—Hlz, % 50,000& * 208 1,000
— A& XM 2,000,000& = 14 2,000
OdteA S#ZHd 1,000,000& * 5= 5,000
OE2ZNES st EIHIZHM AlIE
50,000& = 3& » 30& 4,500
401 Al &BI20HYI 19,000 0 19,000
01 Al&H| 19,000 0 19,000
O SAEE oA HIE WA 15,000
—HESoRA 10,000,000& * 1= 10,000
—HESotRA 1,000,000& * 5= 5,000
QoA A B 500,000& * 8= 4,000
SQMTBIIENLHPA 2 129,100 126,100 3,000
201 L3 26,100 26,100 0
01 AtR2teltl 26,100 26,100 0
OsgEdsIsgH A AR =5 26,100
- 10,000,000& * 1Y 10,000
- 5,000,000& = 2% 10,000
—EXdRR 2,000,000 * 29 4,000
—=2dA23 70,000& » 15% * 23] 2,100
207 Ao 103,000 100,000 3,000
01 A1E4H| 100,000 100,000 0
Osgddshsigd1sd 100,000
—AbDH OIA EX E=A S(51HA)
20,000,000& = 54! 100,000
03 A& A 3,000 0 3,000
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A sII=4H
M sYIl=He
el NEsY Jlslg

_ _ SIEN
SN EB -GS - MBAY - BES arey i
OU T ~&THE 3,000,0002 * 14] 3,000
SRR 2 47,900 0
101 QI24H| 1,400 0
10 JAN2ENS 2+ 1,400 0
OASEES Hl0[2A REQ MAAIY 1,400
—#5 U R Mo 2
35,0008 * 23 * 202 1,400
201 Y2yl 31,000 0
01 AtRelyl 200 0
OSP4 oig I=y| 10,0002 * 2 200
02 Tzl 30,800 0
ONEXE g S8
1,50080 * 24 * 2412 * 4T) * 100 28,800
Oo1P4 FHHl SXH 200,000 * 105 2,000
207 oHZL Y| 5,500 0
CEREEEE 5,500 0
O=MTANPE 98t HETY 2,500
— Ao, ERE S 50,0008 * 50% 2,500
OASHES G024 REQ MAAYS 3,000
— Ao 2 THE 300,008 * 10% 3,000
401 ASHLLHH 10,000 0
01 AZH] 10,000 0
ORSR =38 HCSAL 2
10,000,0002 * 1A 10,000
SQHEED Y FAIRA 83,086 158,698
SI=p ! 21,320 18,740
201 Y2yl 2,380 2,360
01 At 2elyl 2,380 2,360
O23 b D= 580
e InbY 10,0008 * 40% 400
—EEEa0 60,0008 * 344 180
OMER Hole 2 1,800
—MER0 JtolS= 3,00020 * 500 1,500
— 29840 60,0002 * 5 A 300
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A sII=4H
M sYIl=He

9l SMESD 2 MAIBA (£ @8
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
206 THEH| 6,000 12,000 6,000
01 Mzl 6,000 12,000 6,000
O=s i DSHE
10,0008 * 55 * 40% * 1/2 1,000
OMEBRA WE(3t2, A8)
10,0008 * 505 * 102 5,000
01 YerEAZ 2,940 4,380 A1,440
10 SEAAHIBAS 2,940 3,500 560
CEL Y IRF T
70,0008 * 20% * 80/100 1,120
OME20ITHE o1& 01|
70,0008 * 20% * 80/100 1,120
ORA#A EEX 01|
70,0008 * 5% 23] 700
307 BI2t0IH 10,000 0 10,000
04 SIZFHAEE 10,000 0 10,000
OOFA 5t H Al 5,000,0008 * 23| 10,000
NI2&tB2t FA| 61,766 139,958 AT78,192
201 ereot| 13,266 24,308 A11,042
01 AF=Rarelt] 1,000 1,400 2400
OFAZ BE 10,0008 * 10074 1,000
02 ZZEYH| 7,200 6,384 816
OMEROA L 12|
1,50020 * 24 % 2412 10 * 1002 7,200
03 A2 5,066 16,524 A11,458
O3 22 1,700
—E2HA0H(Z0I8)
60,0008 * 5344 * 33 900
—EPHLOH(HAS)
100,0002! * 14 * 338l 300
—2B 2HE S 5002 + 1,00004 500
OFA&l Y& 3,400 * 990m 3,366
206 THEH| 18,500 16,200 2,300
01 Mzl 18,500 16,200 2,300
OZHE Zas W2 2,200
-52 1002 * 2,000 200
—&t2 2,0002! * 1,0007H 2,000
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A sII=4H
M sYIl=He

el SoIHESm U MAIA (9l &2
SN HB G (BH) - MRAY - BES Aro e Hlm= 2
O&Alg g 74 8,000
—3t2 5,000& * 5002 2,500
—ME, OIME 100,000& * 20& 2,000
-2+ 3,000& » 5& * 100= 1,500
—&AE SAZL 100,000& * 102 1,000
— & AL REXH 1,000,000& 14! 1,000
O&EXE dAg Mg 7Y 6,400
—&AEE 5,000& * 2002 1,000
—=48, DIAIE S
8,0008 * 38 * 100X 2,400
-2 A 5,000& » 200 1,000
—dAlIE 2EN 10,000& * 20074 2,000
OFAZ 2 (03, =2, 0t20t) 1,900
—2=24g 5,000& » 508 * 23| 500
— &A= 30,000& * 308 900
-, 845, UM S 500,000& * 14l 500
307 2IZ2t0lA 30,000 50,000 A 20,000
04 QIZ2HHAIE X 30,000 50,000 220,000
O=3t& Al 30,000,000& * 13 30,000
L0l MaD|B X4 14,920 16,150 A 1,230
& 4,320
Al 10,600
= &8 =4 14,920 16,150 A 1,230
= 4,320
Al 10,600
WHHEAMNSMHY SBI(Z) 10,000 10,000 0
= 3,000
Al 7,000
206 THZHl 10,000 10,000 0
& 3,000
Al 7,000
01 MZ 4l 10,000 10,000 0
Ol=H EZHS MHLLF
2,500,000& * 4= 10,000
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D s9JlsdH

0~

0

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
< 3.000
Al 7,000
HE S| XM X ( 3,520 3,520 0
& 1,320
Al 2,200
3,520 3,520 0
= 1,320
Al 2,200
3,520 3,520 0
PPN ==
550,000& * 8CH = 80/100 3,520
< 1,320
Al 2,200
1,400 2,000 A600
1,400 2,000 A 600
1,400 2,000 A600
| 4,000 » 2004 800
200,000& * 30 600
) 120,078 118,330 1,748
8,580 9,360 AT80
8,580 9,360 AT80
4,800 5,160 A 360
4,800 5,160 A 360
2= o3
400,000& » 1Y = 123 4,800
3,780 4,200 AN420
&l 3,780 4,200 A420
3,780
F=L&y| 350,000& = 12& 4,200
4,200,000 = -10/100 A420
111,498 108,970 2,528
111,498 108,970 2,528
21,248 22,880 AN1,632
21,248 22,880 AN1,632
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2A: sgIls4H
M MRS (BMERT|ET)
@ Jl=2Zl (&2 &2
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
O=AMEX F2LH|
13,0003 * 232t A« 12& 3,588
OS20Aldl 5,000& * 64 * 239 ~ 12& 8,280
Ogbte2 100,000 = 12& 1,200
OARR =T AFLH| 50,000& = 12& 600
OA7E2 =4&H| 8,560
— 2 A 22l 500,000& = 1.5CH 750
— el 22l 100,000& = 5CH = 50/100 250
—2A EY 200,000& = 5CH = 1.50H 1,500
-T2l EY 200,000& = 53| = 504 5,000
—pc==2l 100,0002 = 23CH = 20/100 460
—J|EtEH =2l 50,000& = 12& 600
OJIEt AR S 3t 5,000& * 239 x 128 1,380
OO0l atE 2 23,608,000& = -10/100 N 2,360
202 O] 89,950 86,090 3,860
01 =2WAbI 89,950 86,090 3,860
OFNMERI = RFE oI 88,780
—2ZHH 4 Yl
20,000& » 122 x 23H = 128 66,240
— 224 | 70,000 * 142 = 23H 22,540
OB+l A 1,170
— 2L 04 20,000& * 42 » 1H x 12 960
— 22l (4 di 70,0003 * 3 x 1H » 13 210
405 KHaHE S H] 300 0 300
01 ANLSESFSHI 300 0 300
Oge2Fa AJH 2 300,000& = 1CH 300
SHNE RS 1,595,930 1,248,560 347,370
= 80, 100
== 386,370
Al 1,129,460
SSI|ea2xs 1,595,930 1,248,560 347,370
= 80, 100
& 386,370
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A sII=4H

XH - =2 o
M SitE RS

ol REJ|pAE (B9l ®2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
REIIBRE Al 1,129,460
SaE 2552 322,400 202, 100 120,300
101 o121t 5,000 0 15,000
10 JZHM2ERSES 15,000 0 15,000
OCHOF AFDH £E50t GIE 28 2124y
50,0002 * 3% * 100 15,000
201 Y] 5,400 2,100 3,300
01 AtR22IH] 5,400 2,100 3,300
Osie RSIIZ ¥ 2553 S 844
A= 60,0002 * 207 1,200
O+EBZXOl A3 ALY
70,0008 * 43| * 15% 4,200
202 01t 2,000 0 2,000
01 =LHoItl 2,000 0 2,000
OB AFDF +E522 HEXEQ" ol
20,0008 * 502 * 2% 2,000
01 YstEAI 300,000 0 300,000
12 JIERaE 300,000 0 300,000
OSHSLEZTNS N
3,000,000,0002! * 10/100 300,000
SMHSIHBAMY 84 2,680 2,680 0
206 T2l 1,000 1,000 0
01 M2l 1,000 1,000 0
OFSSA 2eUd FIIME 2
500,000% * 2HLH + 18l 1,000
301 YprEAZ 1,680 1,680 0
10 BAFAHIZAZ 1,680 1,680 0
OSZIBUASH AHDS oftI2 s
70,0008 * 102 = 12 * 23] 1,400
OXS2IHsE L SYF A ol =
A 70,0008 * 22 * 23] 280
SHSHI REUEH 29 150,000 100,000 50,000
402 BIZEXHEO0IH 150,000 100,000 50,000
NEEBEEES 150,000 100,000 50,000
OMS0IYsZEYe NeXNFD &X
300,000,0008 * 14 * 50/100 150,000
Lz (AP HESY(2) 133,500 0 133,500
=2 80, 100
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A sII=4H

XH - =2 o
M SitE RS

S Pl (S92l
SN HH G (EH) - MBAY - BYS 01l &+ o4 Soe s
frstts2el (AP HE2E(2) S 16,020

Al 37,380
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